APPENDIX Il: LINKS TO RESEARCH FINDINGS AND METHODOLOGIES

Links to OHCA’s publications and information related to the Connecticut State Planning
Grant:

http://www.ohca.state.ct.us/SpecialProjects/hrsa.htm

http://www.ohca.state.ct.us/Publications/survey%20overview%20BRIEF1.pdf

http://www.ohca.state.ct.us/Publications/lUNINSURED%20ESTIMATES%20BRIEF%20FINALSINGLE.pdf

http://www.ohca.state.ct.us/Publications/employerO4factsheetl.pdf

http://www.ct.gov/ohca/lib/ohca/husky databook final.pdf

http://www.ct.gov/ohca/lib/ohca/summary briefing _paper final.pdf

http://www.ct.gov/ohca/lib/ohca/summary briefing_paper final.pdf

http://www.ct.gov/ohca/lib/ohca/publications/snapshotfinal.pdf

http://www.ct.gov/ohca/lib/ohca/publications/newmeps05 letterhead sp.pdf

2006 Household Survey Instrument

1: PHONE
simple

min=1 max=11=10

2004/06/01 15:35

*** |mported Value - PHONE

= [+1
si 1>0

«PHONE »

2: REP

simple
min=1max=11=3
2004/06/01 15:35

20



*** Imported Value - REPLICATE

= [+1
si 1>0




«REP »

3:

simple
min=1max=11=5
2004/06/01 15:36

22

FIPS



*** IMPORTED VALUE - FIPS

= [+1
si 1>0

[ 1 11 [ [
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N YT - AV RO
LT 0T 1o (o] o TR
JL 01 =1 o O
WVINANAM ettt e e s st e e e s e b e e e s sbee e s s sbbaeesanes

«FIPS »

4.

simple
min=1max=11=20
2004/06/01 15:36

*** |mported Value - Primary city

= [+1
si 1>0

«PCITY »

PCITY

5:

simple
min=1max=11=5
2004/06/01 15:36

*** IMPORTED VALUE - FIPS2

=> [+]1
si 1>0

«FIPS2 »

FIPS2

6:

simple
mn=1max=11=2
2004/06/01 15:36

***|mported variable: STATE

=> [+1
si 1>0

«STATE »

STATE

7:

simple
mn=1max=11=2
2004/06/01 15:36

***imported variable-user defined field 1

=> [+1
si 1>0

«UDF1 »
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8:

simple
min=1max=11=5
2004/06/01 15:36
***|mported variable- CBSA code

CBSA

=> [+1
si 1>0

«CBSA »

9:

simple
mn=1max=11=1
2004/06/01 15:36
*** |mported Value - msa

MSA

=> [+1
si 1>0

«MSA »

10:

simple
min=1max=11=1
2004/06/01 15:36
*** |mported Value - mcsa

MCSA

= [+1
si 1>0

«MCSA »

11:
simple
min=1max=11=4
2004/06/01 15:36
***|mported variable-msa code OLD

MSAQO

=> [+]1
si 1>0

«MSAQO »

12:

simple
min=1max=11=1
2004/03/15 12:12
***|mported variable- Met Status Code OLD
«MSCO »

MSCO

24



13:

simple
min=1max=11=5
2004/06/01 15:37
***|mported variable-listed HH

LISHH

=> [+1
si 1>0

«LISHH »

14:

simple
min=1max=11=5
2004/06/01 15:37
***|mported variable-total hh

TOTHH

= [+1
si 1>0

«TOTHH »

15:
simple
min=1max=11=5
2004/06/01 15:37
***|mported variable-total population

TOTPO

= [+1
si 1>0

«TOTPO »

16:
simple
min=1max=11=5
2004/06/01 15:37
***|mported variable-percent listed

PERCN

=> [+]1
si 1>0

«PERCN »

17:
simple
min=1max=11=5
2004/06/01 15:37
***|mported variable-household density

HHDEN

=> [+1
si 1>0

«HHDEN »
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18: TIMEZ
simple

mn=1max=11=1

2004/06/01 15:37

*** |mported Value - GENESYS TIME ZONE

=> [+1

si 1>0

BEASTERN ...ttt s e e s s e bbb r e e e e s s e bbb b e e e e e e s e s saabaeees E

CENTRAL . ..ottt e e s bt e e s et e e e s s b e e e s st be e e sbeneessrbaeeaas C

IMIOUNTAIN Lottt et e e e ettt e e s st e e s s bt e e s sabbasssssbesessbeeessssbanesanes M

PACIFIC ...ttt e s e e s sttt e e s eaba e e s sbae e s sarbaneans P

«TIMEZ »

19: TZONE

simple
min=1max=11=1
2004/06/11 10:14
This is the Time Zone Question

=> [+1

si 1>0

[N LATIY2 {0 0T o | =Y q o 1

AN 1 = o2 2

[ ) (] 1 O 3

(1= 01 (= | TR 4

1Y/ (010101 =T 1o SRR 5

o (o] 1 1o TR 6

«TZONE »

20: INTRO
simple

min=1max=11=2

2004/06/01 09:22

CALLBACK NAME: <name > TARGET IDENTFIED AS: <target>. AGE OF TARGET:

<age01>

(1] 01110 11 IR 01

«INTRO »

21: INT1
simple

min=1max=11=2
2006/04/06 11:22

26



SCHEDULE CALL BACK IF NO ONE AT HOME IS FAMILAR WITH HEALTHCARE.
Hello, my name is $I, and I'm calling from the University of Connecticut on behalf of the
State of Connecticut’s Office of Health Care Access. We're conducting a state wide survey
on health and insurance coverage. The results will help guide health policy decisions that
affect the people of Connecticut. May | please speak with the adult in this household, 18
years of age or older, who is familiar with the health care of the people who live here?

(07031113111 OSSPSR 01
ANSWENING MaChINE........cci i e AM =>/END
BUSINESS ... ettt et b e et b e e nb e e nes BU =>/END
BUSY .ttt sttt ettt R re et et nrenn BZ =>/END
DISCONNECTEM ...ttt DC =>/END
Deaf/HEAITN ISSUE .....cveeieciicee ettt e DH =>/END
FAX/IMOOBM. ...ttt ettt e be e s re e sbe e sae et enns FX =>/END
Hard Call back (Specific date/time) ..........ccooeririiiiieie e HC => /NAME
Hard Call back in Spanish (specific date/time)..........ccocoiriiininiiiiiee e, HS => /NAME
INEIHGIDIE ... e e IL NI =>/END
INnterviewer TErMINALEA ........coviirieiiieise et IT =>/END
Non-English Speaking HOUSENOId............ccccceiiiiiiiicecce e LA =>/END
Spanish Speaking HOuSEhOId ..o SP =>/END
[0 To 0 1 OSSPSR LO =>/END
INO BNSWET ...ttt bbb bbb ettt st be st NA =>/END
(011 SO SOUTP SO PR PP oT | =>/END
Partial COMPIELE .......ciieeiciee e PC => /NAME
PrOXY RETUSAL ...ttt PR =>/END
RETUSAL ... .o st re e eae b s RE =>/END
Refused INFOrMAatioN ..........coooiiiiii e RI =>/END
Respondent TErMINALEM ...........coeiiiiiiiieeeee e RT =>/END
Soft Call back (Non-specific date/time) .........c.ccoveiiiiiiii i SC =>/END
Soft Unscreened Call-Back..........ccoiiiiiiiiiniciecee e SuU =>/END
ALL OTHER CODES ..ottt 99 =>/INT
«INT1 »
22: INT2
simple

min=1max=11=2

2004/06/01 15:35

Because this survey concerns health issues, we will gather some general information about
health insurance as well as more detailed information about one person in particular who
will be randomly selected from all the members of this household.

LO00] 1 {1 [0TSR 01

Deaf/HEAITN ISSUE .....c.vecviieiiiirce et DH =>/END
Hard Call back (specific date/time) ........ccccvvvvieeieierese e HC => /NAME
INterviewer TErMINALEA ........cccoveieeiere e IT =>/END
0o 0 3 LO =>/END

L@ 11 SRRSO oT | =>/END
Partial COMPIELE .......cuiieeieiee e PC => /NAME
PrOXY RETUSAL ...ttt PR =>/END
] (VST | S RE =>/END
Refused INFOrMation ..o s RI =>/END
Respondent TErMINALEM ...........coeiiiiiiiieeeee e e RT =>/END
Soft Call back (Non-specific date/time) ........ccoevveveieriie e sC =>/END
Soft Unscreened Call-BacK...........ccovveviiiiiiii i SuU =>/END
Ineligible (PUT REASON WHY IN F8) ....ccoviiiiiiiiiiiiec e IL =>/END
ALL OTHER CODES ..ottt 99 =>/INT
«INT2 »
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23: S6
simple

min=1max=11=2

2004/06/01 09:22

How many people currently live or stay in this house, apartment or mobile home? (PROBE:

Include children, foster children, roomers, housemates not related to you, or college

students living away while attending college. DO NOT INCLUDE PEOPLE WHO LIVE

OR STAY AT ANOTHER PLACE MOST OF THE TIME, PEOPLE IN A

CORRECTIONAL FACILITY, NURSING HOME, OR RESIDENTIAL FACILITY, OR

PEOPLE IN THE ARMED FORCES LIVING SOMEWHERE ELSE.) (ENTER

NUMBER 1-12)

$E112

[0 01 A 2 [0 O 98 => INT4
L= 10 =10 [T 99 =>|NT4

«S6 »

24: TARGE

simple, ouverte
mn=1max=11=2
2004/06/01 09:23
(IF ONLY 1 PERSON IN HOUSE, ASK FIRST NAME/INITIALS. IF MORE THAN 1
PERSON READ: Of all <s6> people in this household, the person who has had the MOST
RECENT BIRTHDAY s the person randomly selected as the one | need to get detailed
insurance information about. What is this person's first name or initials? (PROBE: NEED
PERSON'S FIRST NAME OR INITIALS BECAUSE THIS PERSON IS CALLED THE
"TARGET" AND THEIR NAME GETS RECALLED INTO QUESTION TEXT
THROUGHOUT THE INTERVIEW)

RECORD INITIALS/FIRST NAME OF TARGET .....ccoiiiiiriiirirec e 01 O
Refused t0 identify TARGET ........ocoiiiiiie e 99 =>INT4
«TARGE »

«O_TARGE »

25: AGEO1
simple

mn=1max=11=2

2004/06/01 09:23

(IF ONLY 1 PERSON IN HOUSEHOLD, ASK "What is your age?") What is this person's

age? (ENTER NUMBER BETWEEN 1 AND 96)

$E 097

A0 g ] [0 =] TR 97 => SEX01
[0 11 A S [0 OO 98

RETUSE ...t e e e st e e s s bt e e e s ebbee e s sabaees 99

«AGEO1 »

26: AGEI1R

simple
min=1max=11=2
2004/06/01 09:23

28



This information is very important to our research and will be kept completely confidential.
Will you tell me this person's age?
$E 197

=>+]1
si AGE01<=97

YES, WIlING t0 ANSWET ....cveiiiciicieice ettt st sre e 01 => AGEO1
[0 L] 0 A 1 10 PSRRI 98 =>INT4
RETUSEA ... .ecuvi ittt ettt et e e be e besreesaeesbeesreenras 99 =>INT4
«AGEI1R »

27: SEXO01
simple

min=1max=11=2

2004/06/01 09:23

(IF ONLY 1 PERSON IN HOUSEHOLD, DO NOT ASK, RECORD ANSWER) Is this

person male or female?

L] (0 FST=T o R 99 =>INT4
«SEX01 »

28: X1
simple

min=1max=11=2

2004/06/01 09:24

Am | speaking with <TARGE>?

=>+]1
si AGEO1<18

Yes, Person on phone is TARGET/PERSON SELECTED.........cccocevvivvenernninns 01 => |H1
NO, OTHER person iS TARGET .......ccccoiiiiierieiieieeie e 02

RETUSE ...ttt s e e e st e e s s ebbe e e s ebbee e s sabaee s 99

«X1»

29: X2
simple

min=1max=11=2

2004/06/01 09:24

Are you familiar with the healthcare and insurance coverage of <target>, the <age01> year

old <sex01> in this household who has had the most recent birthday?

D =T TR 01 => |H1

[N Lo IO 02

] SRR 98

RETUSEA ... ettt sttt st e e s e e e sb b e s s e e e s bb e s sbaeesrae e 99

«X2 »

30: X3
simple

min=1max=11=2

2004/06/01 09:24

29



May | please speak with an ADULT WHO IS FAMILIAR with the healthcare and
insurance coverage of this <age01> year old <sex01 >?

=L TR 01 =>|INT5

[\ (o I TR 02 =>|INT4

] SRR 98 =>INT4

RETUSEA ... ettt st e e s e e e sb b e s sbe e e sba e s sbaeesraeaas 99 =>INT4

«X3 »

31: XX1 (1)
simple

mn=1max=11=2

2004/06/01 09:24

Now | need to ask detailed questions about <TARGE>'s healthcare and insurance coverage.
May | please speak with this person? (INACTIVE 2004)

D = TP U TR TSP P UURTOTPTOPTUPUIO 01 => INT5

Person on phone said can't Speak t0 Target .........cooceverererinieriee e 02

Target at home but unable to speak due to health problem ...........c..cccceeirenennenn. 03

Target currently UNAVAILABLE ... 04

DON'T KNOW. ...ttt nas 98

RETUSE ... e e et 99

«XX1 »

32: XX2 (1)
simple

min=1max=11=2

2004/06/01 09:24

Are you familiar with the healthcare and insurance coverage of <target > the

<age01> year old <sex01 > ? (INACTIVE 2004)

D OSSPSR 01 =>|H1

N O ettt ettt b et bR e bt E e bt te bt te et e eteabeneere s 02

5] ST RSO U PSURPTSPRRSON 98

RETUSE ..o et 99

«XX2 »

33: XX3 (1)
simple

min=1max=11=2

2004/06/01 09:25

May | please speak with an adult who is familiar with the healthcare and insurance
coverage of the <age01 > year old <sex01 > ?(INACTIVE 2004)

R =TT 01 => [NT5
NO-code as Proxy RefUSAl .........ccccvvveieiiie e 02

Schedule CaIDACK ..o s 98

«XX3»

34 INT4
simple

mn=1max=11=2

2004/06/01 09:25

30



SUMMARY RESULT CODE:

Hard callback (Specific date/time) ........covviiriiiiiiee s HC => /NAME

Terminate Interview/Refused information about age/target.........cccccoceeeervnnenne. TI =>/END

ProxXy REFUSAL .......ccuiiiiiiie e PR =>/END

Soft callback (nonspecific date/time) ... SC =>/END

«INT4 »

35: INTS
simple

min=1max=11=2

2004/06/01 09:25

(READ WHEN NEW PERSON GETS ON THE PHONE:) Hi, my name is $I , and | am
calling from the University of Connecticut on behalf of the State of Connecticut. We are
conducting a state-wide survey to find out about people's health and insurance coverage.
The results of this survey will help guide health policy decisions that affect the people of
Connecticut. Just so you know, we have randomly selected <target > as the person in this
household who we will need to get health information about.

(070 ] 31 1] 3111 OSSPSR 01

RETUSAL. ... RE =>/END

ReSpoNdeNt TEIMINALE .......c..cceieierese e sre e eneas RT =>/END

Hard call back (Specific date/time) .........ccovvvivieerieieerese e HC => /NAME

Soft call back (non-specific date/time) ..........ccoeviiriiiinir e SC =>/END

«INT5 »

36: IH1
simple

min=1max=11=2

2004/06/01 09:25

TARGET IS: <x1 >

IH1. I am going to read you a list of different types of health insurance.  Please tell me if

<target > CURRENTLY has any of the following. Answer for each type that

applies.

LOT0] 011 [0SR 01

«IH1 »

37: H1l
simple

min=1max=11=2

2006/03/24 09:49

TARGET IS: <x1 >

H1. Does <target> currently have Medicare? (READ IF NECESSARY: Medicare is the
health insurance for persons 65 years old and over or persons with disabilities. This is a red,
white and blue card.)

D (=T TR 01

N o TR 02 =>H3
[0 01 A [0 L O 98 =>H3
RETUSE ...ttt e st e e e s s bt e e s s bt e e e s ebbae e s sabaee s 99 =>H3
«H1 »

31



38: H1A
simple

min=1max=11=2

2004/06/01 09:25

TARGET IS: <x1 >

MEDIGAP. Does <target > have additional insurance to supplement Medicare, such

as a self-purchased Medigap policy, or a retiree benefit?

D TP ST PR P RSP 01

Lo USSR PP PP PRTURPRUPRPRN 02

DON'T KNOW......iiiiiieie sttt 98

RETUSEA .....c.eee e e r et sr b ene s 99

«H1A »

39: H1P
simple

min=1max=11=2

2004/06/01 09:25

TARGET IS: <x1 >

Besides this, does <target > have any other type of health insurance coverage?

D T TSP OV PRPRORURPPT 01

[N o TSSOSO URPTSPRPSON 02 =>H15

[0 L] 0 1 10 USSR UPRSRIN 98 =>H15

RETUSEA ...t ettt nre b e ene s 99 =>H15

«H1P »

40: H3
simple

min=1max=11=2

2004/06/02 08:31

H3. CHAMPUS also known as Tricare, Veteran's Affairs service connected to a disability,

or military health care ?

| PSPPSR 01

L T PO 02 =>H4

[0 L] 0 5 10 SRS UPRSRRN 98 =>H4

L] {1 ] =T ST R 99 =>H4

«H3 »

41: H3P
simple

min=1max=11=2

2004/06/01 09:25

TARGET IS: <x1 >

Besides this, does <target > have any other type of health insurance?

| PSPPSR 01

o TSSO 02 =>H15

DON'T KNMOW. ...ttt ettt et ae e sne e 98 =>H15

RETUSEA ... .ottt sre e s re e sreennas 99 =>H15

«H3P »

32



42: H4
simple

min=1max=11=2

2004/06/01 09:25

H4. Medicaid?

R - T TSRO UPOT P PPRRTRN 01

o TSSOSO 02 =>H5

1o 4 1410 OSSR 98 =>H5

RETUSEA .....c.ee ettt re et e st nrenrenreene s 99 =>H5

«H4 »

43: H4P
simple

min=1max=11=2

2004/06/01 09:25

TARGET IS: <x1 >

Besides this, does <target > have any other type of health insurance?

R - T TSP OU POV PPPRRTRN 01

[N o TSP SOURPTRURPRON 02 =>H15

[ 10 O 310 R 98 =>H15

T 0110 OSSR 99 =>H15

«H4P »

44 H5
simple

min=1max=11=2

2004/06/01 09:25

H5. State Administered General Assistance (SAGA) Medical?

R - TSSO UPOTPPUPRTRN 01

[N o TSP SOURPTRURPRON 02 => H6A

[ 10 O 310 98 => H6A

RETUSEA ... .ottt e e be et st sbe e s beesreennas 99 => H6A

«H5 »

45: H5P
simple

min=1max=11=2

2004/06/01 09:26

TARGET IS: <x1 >

Besides this, do you does <target > have any other type of health insurance?

D 5 TS SSPUS 01

[N o TSSO RSRURPTRPRPTRON 02 =>H15

[0 L] 0 S 10U SR PRSI 98 =>H15

RETUSEA ... .ottt be e be e be st sre e s beesreennas 99 =>H15

«H5P »

46: HO6A
simple

mn=1max=11=2

2004/06/01 09:26

33



H6A. A health insurance plan for children and families called Husky?

D PSPPSR 01

N O bbbttt r e bt ne e e enes 02 =>H9

DON'T KNMOW. ...ttt ettt sttt n e e sae e 98 =>H9

RETUSEA ...ttt be e be et e sae e e sreennas 99 =>H9

«HBA »

a47: H6P
simple

min=1max=11=2

2004/06/01 09:26

TARGET IS: <x1 >

Besides this, does <target > have any other type of health insurance?

D -SSR 01

N O bbbttt e be et e e e e enes 02 =>H15

DON'T KNMOW. ...ttt ettt sttt n e e sae e 98 =>H15

RETUSEA ..ottt e s 99 =>H15

«H6P »

48: H9
simple

mn=1max=11=2

2004/06/01 09:26

TARGET IS: <x1 >

H9. Health insurance through <target ~ >'s work or labor union?

=>H10

si AGEO1<18

D TSP PR PRSPPI 01

o TSSO 02 =>H10

[0 L] 0 1 16 SRR UPRSRIN 98 =>H10

RETUSEA ... .eceei ettt et e e be e be st sbe e s beesreennas 99 =>H10

«H9 »

49: H9P
simple

min=1max=11=2

2004/06/01 09:26

TARGET IS: <x1 >

Besides this, does <target > have any other type of health insurance?

| PSPPSR 01

o TSSO 02 =>H15

DON'T KNMOW. ...ttt ettt et ae e sne e 98 =>H15

RETUSEA ... .ottt sre e s re e sreennas 99 =>H15

«H9P »

50: H10
simple

min=1max=11=2

2004/06/01 09:26

34



H10. Health insurance through someone else's work or labor union?

[0 01 A S 10 OO
RETUSE ... .ot s e e e s st b e e s s bt e e e s eabae e s sabaee s

«H10 »

=>H11
=>H11
=>H11

51:

simple
min=1max=11=2
2004/06/01 09:26
TARGET IS: <x1
Besides this, does <target

>

> have any other type of health insurance?

=>H15
=>H15
=>H15

H10P

52:

simple
mn=1max=11=2
2004/06/01 09:26
TARGET IS: <x1

>

H11. Health insurance bought directly by <target  >?

[0 0 10 OO
RETUSEA ... ettt e e s e e e sb b e s sba e e sbae s sbeeesraeaas

«H11 »

=>H12
=>H12
=>H12

H11l

53:

simple
min=1max=11=2
2004/06/01 09:26
TARGET IS: <x1
Besides this, does <target

[0 0 [0 ) OO
RETUSEA ... ettt e e s e e e sb e s s e e e sbbe s sbeeesraeeas

«H11P »

>

> have any other type of health insurance?

=>H15
=>H15
=>H15

H11P

54:

simple
mn=1max=11=2
2006/03/22 12:29

35
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A high deductible health plan along with a Health Savings Account (HSA) or a Health
Reimbursement Arrangement (HRA)

=TT TSRS 01

[N Lo IR 02

[0 11 A S [0 OO 98

RETUSEA ... ettt st e e s e e e sb b e s sbe e e sba e s sbaeesraeaas 99

«H11B »

55: H12
simple

mn=1max=11=2

2004/06/01 09:26

Health insurance bought directly by someone else?

D =L TR 01 => H15

[\ (o I ORI 02 => H12A

[0 11 A S [0 OO 98 => H12A

RETUSEA ...ttt e st e e s e e e sba e s sba e s s bt e s sbeeesrae e 99 => H12A

«H12 »

56: H12A
simple, ouverte

mn=1max=11=2

2006/03/24 09:50

Other than the types of health insurance I've just mentioned, what types of health insurance

does <target > have?

=>H15

si H1P>01 AND H3P>01 AND H4P>01 AND H5P>01 AND H6P>01 AND H9P>01 AND
H10P>01 AND H11P>01

RECORD VERBATIM ...ttt ettt ettt esene e st sereenne e 01 O =>HI15

[0 TR 02

] ST T R OPR TR 98

RETUSE ...t e st e e e s st a e e s s bt e e e s eabes e s sabaees 99

«H12A »

«O_H12A »

57: H13

simple

min=1max=11=2

2006/03/24 09:51

TARGET IS: <x1 >

H13. According to the information you provided, <target > does not have

health insurance coverage. Does anyone else pay for this person’s bill when this person goes
to a doctor or hospital?

=>H15

si H1==01 OR H3==01 OR H5==01 OR H6A==01 OR H9==01 OR H10==01 OR
H11==01 OR H12==01

Y B S e et e —— e e e e e e ettt e e —e e s i e e e earareerraras 01 =>H14
N L IR 02 =>H19
(0 [0 Al 1O L TSR 98 =>H19
(=Y 1 EI=To [P RRRT 99 =>H19
«H13 »

36



58: H14
simple, ouverte

min=1max=11=2

2004/06/01 09:26

H14. And who is that? (DO NOT READ LIST. USE DOWN ARROW TO VIEW ALL

CHOICES)

IMBAICATE ...ttt bbbttt 01 =>H15

Railroad RetireMent PIan...........ccocooiieiiiiiiece e 02 =>H15

CHAMPUS, Veteran's Affairs service connected to a disability, military health care 03 =>H15

Lo T Tor= Vo SRR 04 =>H15

Connecticut General Assistance Program (GA or SAGA Medical Assistance) 05 =>H15

A health insurance program for children and families called HUSKY .................. 06 =>H15

Health insurance through <target >'S WOrK OF UNION....ccveeiiiieieiieee 09 =>H15

Health insurance through someone else's Work or union............cccceeeeveiencnenncns 10 =>H15

Health insurance bought directly by <target > 11 =>H15

Health insurance bought directly by someone else..........ccccevvvvvveieviecivcievicieinens 12 =>H15

Workers compensation for specific injury/illness..........ccccocevvvvienesiviiveveieeseie s 13 => H14A

Employer pays for bills, but not an insurance poliCy..........ccccovvviviivnieiiiciiicieiens 14 => H14A

Family member pays out of pocket for any bills ..........ccocoeovviveveiiiiic 15 => H14A

Self Pay/No Private or PUBDIIC INSUFANCE.......cccveveieie e 16 => H14A

OLNEr (SPECITY) ..ttt bbbttt 80 =>H15

ON'TKNOW ..ttt ettt see st st sbeere e eneas 98 => H14A

=] [T PSSRSO 99 =>H14A

«H14 »

«O_H14 »

59: H14A
simple

min=1max=11=2

2004/06/01 09:26

TARGET IS: <x1 >

For purposes of this survey, we'll assume <target > does not have insurance.

(00T 011 [0TSR 01 =>H19

«H14A »

60: H14B
simple, ouverte

min=1max=11=2

2006/03/22 12:42

What is the main reason that <target> does not currently have health insurance?

RECORD VERBATIM ..ottt 01 O

DON'T KNOW......tiiiiiee sttt n e 98

RETUSEA ...ttt ettt see st ene s 99

«H14B »

«O_H14B »

61: H15
simple

min=1max=11=2

2004/06/01 09:27
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TARGET IS: <x1 >

H15. Has <TARGE > had insurance coverage for all of the past 12 months?

Y B S bbbttt b 01 => SKIP1
N O et bbbttt b e bt nne e e enes 02 =>PATHI
AONTKNOW ... bbbttt b e eb e eneas 98 => PATHI
TETUSEO ...ttt 99 => PATHI
«H15 »

62: H19
simple

mn=1max=11=2

2004/06/01 09:27

TARGET IS: <x1 >

H19. Has <TARGE > been covered by any health insurance IN THE PAST 12

MONTHS?

Y B S ettt bttt 01 => IPATU

N O ettt et e h e et b e R b et b e et e b et et e te b e ere s 02 => SKIP1

AON'T KNOW .ttt et b ettt et sbe ettt ere e 98 => IPATU

TETUSEO ...t 99 => IPATU

«H19 »

63: IPATU
simple

min=1max=11=2

2004/06/01 09:27

TARGET IS: <x1 >

The next set of questions is about <TARGE >'s history of insurance coverage OVER

THE PAST 12 MONTHS.

CONLINUE ...t bbbttt b et 01

«IPATU »

64: PATHU
simple

min=1max=11=2

2004/06/01 09:27

TARGET IS: <x1 >

You have just explained to me that currently <TARGE > is NOT covered by

health insurance but was covered at some point IN THE PAST 12 MONTHS. Is this

correct?

L TSSO 01 => UNIN1

1 T ORIt 02

(o[0T A 2 T A 98

(=] 0TS =T IR 99

«PATHU »

65: PROB

simple, ouverte
min=1max=11=2
2004/06/01 09:27
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TARGET IS: <x1 >
Can you please briefly describe <TARGE >'s current health insurance situation and what
this situation has been during the past 12 months?

TYPE VERBATIM ...ttt sttt st e e st ba e 01 O =>SKIP1
ONTKNMOW .ttt et et ettt e et e e st e e e ebee e sbreenbeeesbeas 98 => SKIP1

=1 (U EI=To RO 99 => SKIP1
«PROB »

«O_PROB »

66: UNIN1

simple, ouverte
mn=1max=11=2

2004/06/01 09:27
TARGET IS: <x1 >
UNIN1. What type of insurance was <TARGE > covered by most recently?

Was it . .(READ CHOICES 1-8) (PROBE: IF RESPONDENT ONLY MENTIONS NAME
OF INSURANCE COMPANY, REPEAT CHOICES OR ASK THEM TO BE MORE
SPECIFIC AS TO THE TYPE OF INSURANCE.)

IMIBAICATE ...ttt sttt sttt sttt b e 01

some other form of public insurance (Medical Assistance (MA), Medicaid, CT General Assistance  Program

(GA/SAGA) HUSKY ..ttt ettt st a e nnens 02

insurance through own or someone else's employer or union ...........ccccoeevverenne 03

student health INSUFANCE..........coov i e 04

insurance bought directly by you or by someone else .........cccoevviniiniiiicnenns 05

Veterans Administration (VA, Champus, Anything Military Related) ........... 06

COBRA ..ottt bbbttt enen 07

Some other type of insurance (SPECIFY) ..o 80 O

AON'T KNOW .ttt ettt b et sbe et sbe e ere e 98

TETUSEO ...ttt 99

«UNIN1 »

«O_UNIN1 »

67: UIN1A
simple

min=1max=11=2

2004/06/01 09:27

How many MONTHS ago did that coverage end? (ENTER 2 DIGITS. ROUND TO
NEAREST WHOLE NUMBER)

$E 097

[0 11 A S [0 OO 98

RETUSE ...t e e e s st b e e s s bt e e e s eabas e s sabaee s 99

«UIN1A »

68: UNIN2

simple, ouverte
min=1max=11=2
2004/06/01 09:27
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TARGET IS: <x1 >

UNIN2. And what is the main reason <TARGE >'s coverage ended? (DO NOT
READ RESPONSES.)

job that provided coverage ended ..o 01
employer stopped offering coverage but still have job ..., 02
could no longer afford to buy health inSUrance ...........ccccoceevieivniiccccccccce e, 03
COBRA COVEIAQE AN OUL....ieivvieiiiieiiiiesiieesieessineesiee s sirssssesssieessseessteessseesseesnsessseas 04
no longer eligible under public insurance Program .........cc.ccoceveveveniesieseseseennns 05
never got around to reapplying for public INSUFANCE ........cccccvvivvvivnecicece s 06
moved to state recently and haven't gotten new INSUrancCe .........c.cceevevevvereeriernns 07
left school, no longer eligible for parents'  PoOliCY.......ccccoovivriviivnivie e, 08
decided no longer needed or wanted INSUFANCE .........ccccvverveeereeierenesee e sieseeeneas 09
OLhET (SPECIFY) ittt sttt 80
AON'TKNOW ...ttt bbb b b eneas 98
2] (VST [OOSR 99
«UNINZ2 »

«O_UNINZ2 »

69: UNIN4
simple, ouverte

min=1max=11=2

2004/06/01 09:27

TARGET IS: <x1 >

UNIN4. What was the main reason <TARGE > got this insurance coverage? (DO

NOT READ RESPONSES.)

got a new job offering INSUFANCE .........ccoeiiriieii e 01

family member got a new job with COVerage...........ccoouveririniini i 02

became eligible for insurance through Work...........cccccoeviieiiiinc e, 03

became eligible for insurance through someone else's Work ...........ccccoeveveivnnennn, 04

became eligible for public insurance/not eligible before.........ccccoovvvveivicvcenenn, 05

applied for public insurance/knew already eligible ..........c..ccooveveveiv v, 06

could afford to buy health INSUFANCE..........ccoveierirece e 07

needed or wanted health INSUFANCE ..........cccoeiiiiiiiec 08

DECAME SICK vttt 09

OLhET (SPECIFY) .ottt 80

ON'TKNOW ..ttt e et e st st sbesreaneeneas 98

2] (1S [OOSR UPRUTUTR PR 99

«UNIN4 »

«O_UNIN4 »

70: PATHI
simple

min=1max=11=2

2006/03/24 09:52

TARGET IS: <x1 >

PATHI. You have just explained to me that currently <TARGE > is covered by

health insurance but was NOT covered at some point IN THE PAST 12 MONTHS. Is this

correct?

L2 T T ST U O P URTPRTUROPRO 01 =>[NSD2

01 T TSP YU P UPRURPRT 02

AON'T KNOW .ttt ettt b et sbe sttt neere e 98

TEIUSEO ...t 99

«PATHI »
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71: PROB2

simple, ouverte
min=1max=11=2
2004/06/01 09:27
TARGET IS: <x1 >
Can you please briefly describe <TARGE >'s current health insurance situation and what
this situation has been during the past 12 months?

TYPE VERBATIM ..ottt ettt ettt st sttt st sre e sbn et 01 O =>SKIP1

(o[0T A 2 T A 98 => SKIP1

(=] 01T [ 99 => SKIP1
«PROB2 »

«O_PROB2 »

712: INSD?2

simple, ouverte
min=1max=11=2
2004/06/01 09:27
TARGET IS: <x1 >
INSD2. Thinking back to the time <TARGE > got the current form of health
insurance, what is the main reason this person got coverage at that time? (ASK AS OPEN
ENDED. USE CODE LIST BELOW. USE DOWN ARROW TO VIEW ALL CHOICES)

got a new job offering health INSUraNCe...........covviiiiiiicn s 01

family member got a new job with COVErage..........cocvvrvinineiiineee e 02

became eligible for insurance through Work............ccccoovoiiiiiiiceee, 03

became eligible for insurance through someone  else's Work ...........coceeveennnee. 04

became eligible for public insurance/not eligible for 05...........cccooiiiiiiiiiins

applied for public insurance/knew already eligible ..o 06

could afford to buy health INSUFANCE..........ccccveieiiiiie e 07

needed or wanted health INSUFANCE ..........cccoiviiiiiiiiiec e 08

DECAME SICK ...t 09

(011 TC (] o L=ToT 1 17 OSSR 80 O

AON'TKNOW .ttt et sb et sb e et sb et nnes 98

=] (ST OSSR 99

«INSD2 »

«O_INSD2 »

73: INSD3
simple

min=1max=11=2

2004/06/01 09:28

TARGET IS: <x1 >

Before <TARGE > got the current coverage, did this person go without insurance for a

number of months or a number of years?(PROBE: IF YES, ASK IS THAT MONTHS OR

YEARS)

010 ] 11 0SSR PRSSRRR 01 =>|SD3B

WBAIS. ..ottt 02

AONTKNOW ... bttt b bbb eneas 98 => SKIP1

2] (U] [OOSR R PR PRURO 99 => SKIP1

«INSD3 »
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74 ISD3A
simple

min=1max=11=2

2004/06/01 09:28

How many years? (ENTER 2 DIGIT NUMBER 1-97) (NOTE: TARGET may have had

another form of coverage prior to current coverage but still experienced a GAP in coverage

DURING THE PAST YEAR. We want to know HOW LONG they were without insurance

during their MOST RECENT GAP, even if this goes back beyond the past 12 months, as

long as some part of that GAP extended into the PAST YEAR.)

$E 197

[0 a1 A 10 2 98

L] {0 FST=T o R 99

«ISD3A »

75: 1SD3B

simple
min=1max=11=2
2004/06/01 09:28
How many months ago did that coverage end? (ENTER 2 DIGIT NUMBER 1-11)(NOTE:
TARGET may have had another form of coverage prior to current coverage but still
experienced a GAP in coverage DURING THE PAST YEAR. We want to know HOW
LONG they were without insurance during their MOST RECENT GAP, even if this goes
back beyond the past 12 months, as long as some part of that GAP extended into the PAST
YEAR.)
$E 111

=>+]1
si ISD3A>0

«ISD3B »

76: SKIP1
simple

min=1max=11=1

2006/03/24 09:53

Dummy screen to execute complex skip

=> |UIO
sinon => +1
si AGE01<19

«SKIP1 »

17 SKIP2
simple

min=1max=11=1

2004/06/01 09:28

Dummy screen to execute complex skip

=>EMCO1
sinon => +1
si (H10==01 OR H14==10) AND H9<>01

«SKIP2 »
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78:
simple
min=1max=11=2
2004/06/01 09:28
Dummy screen to execute complex skip

SKIP3

=> |EMC2
sinon => +1
si H9==01 AND H10==01

«SKIP3 »

79:
simple
mn=1max=11=2
2004/06/01 09:28
TARGET IS: <x1 >

ICOV1

Now I'd like to ask a few questions about <TARGE >'s ACCESS to health

insurance.
(O0]01 113 TV TR
«ICOV1 »

80:

simple
mn=1max=11=2
2006/04/03 11:39

COV1A

Does <Target>'s spouse's or partner's employer offer health insurance benefits to at least

some of their employees?

No spouse/partner in household/area............ccocvcvvevieieiiiiieii e
DON'T KNOW. ...t
RETUSE ... bbb
«COV1A »

=>DUM5
=>DUM5
=>DUMb5
=>DUMb5

81:
simple
min=1max=11=2
2006/04/03 11:28
Is <Target>'s spouse or partner ELIGIBLE for this heath insurance?

[0 0 S [0 PO P PUTTRRTPP
L] (0 FST=T o R
«COV3 »

Cov3

=>DUM5
=>DUM5
=>DUMb5

82:

simple
mn=1max=11=2
2006/03/29 12:40
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TARGET IS: <x1 >

COV1. Has <TARGE >'s spouse or partner enrolled in their employer's health

benefits?

L2 T ST U O P TR PRTPR PRI 01

0[P RUU PP USTPRPUPOTTO 02 =>COV4

AON'T KNOW .ttt ettt b e et sbe ettt ere e 98 => COV4

TETUSEO ... e et 99 =>COV4

«COV1 »

83: COoVv2
simple

min=1max=11=2

2004/06/01 09:29

TARGET IS: <x1 >

COV?2. Could this insurance policy be extended to cover <TARGE >?

L2 T OO SUTOT PP OPR PP 01 =>COV5

010 TP PR PSPPSR 02

AON'T KNOW .ttt ettt ettt sbe ettt ere e 98

TETUSEO ...ttt 99

«COV2 »

84 Cov4
simple

min=1max=11=2

2004/06/01 09:29

TARGET IS: <x1 >

COV4. If that family member were to sign up for health insurance, could the policy be

extended to cover <target >?

L= PRSP PPRTPR 01

0L TP U PR PRTROTTO 02

AON'TKNMOW .ttt ettt b et b e et sb et enes 98

TETUSEO ..t 99

«COV4 »

85: COV5

simple, ouverte
min=1max=11=2
2004/06/01 09:30
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TARGET IS: <x1 >

COVS5. What is the MAIN reason <TARGE > does not get health insurance
through that family member? (ASK AS OPEN ENDED. USE CODE LIST BELOW. USE
DOWN ARROW TO VIEW ALL CHOICES)

do not need or want any health INSUFaNCe...........cccocvveiiiiricie e 01
[ 1= LR o] USSR 02
t00 MUCh hasSIE/PAPEIWOIK .......ccecveiieiieieiee et 03
could not afford/to0 EXPENSIVE ........cecveieieicce e 04
own plan through work is cheaper/benefits better ...........cccocvvivviviiieciccceen, 05
expect to get my own health iNSUraNCe SO0N ........cccververirere s 06
after waiting period will be covered by family =~ member's policy.........c........... 07
benefit package didn't MEEt NEEUS .......cceviiriiic e 08
doubt eligible/rejected because of health condition............ccocovvviivcviiiiniiiiinn, 09
OLNEE (SPECITY) ... ettt bbb 80 O
AONTKNOW ... bbbttt bbb b eneas 98
2] (U] [OOSR 99
«COV5 »
«O_COV5 »
86: DUM5
simple
min=1max=11=1
2006/03/24 09:55
dummy screen to execute skip
=>EMCO1
sinon => +1
si H1==01 OR H3==01 OR H4==01 OR H5==01 OR H6A==01 OR H10==01 OR
H11==01 OR H12==01 OR H12A==01 OR H14==01 OR H14==02 OR
H14==03 OR H14==04 OR H14==05 OR H14==06 OR H14==10 OR
H14==11 OR H14==12
«DUMS5 »
87: DUMbA
simple
min=1max=11=1
2004/06/01 09:33
dummy screen to execute complex skip
=> |[EMC2
sinon => +1
si H9==1 OR H14==09
«DUMBA »
88: DUMb5B
simple
min=1max=11=1
2004/06/01 09:33
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dummy screen to execute complex skip

=> 0OWNCO
sinon => +1
si H13==02 OR H13==98 OR H13==99 OR H14A==01

«DUMS5B »

89: OWNCO
simple, ouverte

min=1max=11=2

2004/06/01 09:33

TARGET IS: <x1 >

OWNCOV.What is the main reason <TARGE > has not bought health insurance

on their own? (ASK AS OPEN ENDED. USE CODE LIST BELOW. USE DOWN

ARROW TO VIEW ALL CHOICES.)

do not need or want any health INSUFaNCe............cccocvveiiiiniicie e 01

FAFEIY SICK ...ttt bbbttt 02

do not know where to begin/Where t0 g0.......ccoceiiriiiiie e 03

t00 MUCh hasSIE/PAPEIWOIK .......cc.civiiviiiie i e 04

could not afford/to0 EXPENSIVE ........cecveieieiice e 05

expect to be covered by a health insurance policy shortly.........ccccccoovviiviininennnne. 06

benefit package didn't MEEt NEES .......ccccveveerieiiiice e 07

not eligible for reason other than health ............ccooeoeiiic i, 08

N WAITING PEIIOG ...ttt 09

doubt eligible/rejected because of health CONAILION ..o 10

OLNET (SPECITY) . 80

AONTKNOW ...t bttt b bbb eneas 98

2] (U] [T USSP 99

«OWNCO »

«O_OWNCO »

90: EMCO1
simple

min=1max=11=2

2006/03/29 12:44

TARGET IS: <x1 >

EMCOV1. Does the firm <TARGE > works for offer health insurance as a benefit

to any of its employees?

=>+1

si H9==01 OR H14==09

Y5O 01

o O RTUUTRTRPT 02 => Q31

NOT applicable, NOT employed (VOL) ....c.ccoiiiiiininieineineneee e 03 =>Q31

ON'TKNOW ..ttt e e see st sbesbesreaneeneas 98 => Q31

(=1 {0 TT=To SRS 99 =>Q31

«EMCOL1 »

91: EMC1A

simple
min=1max=11=2
2006/04/03 11:34
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EMCOL1A. Is <Target> ELIGIBLE for this health insurance coverage?

D TP USSR 01

N O bbbttt r e bt ne e e enes 02 =>EMCO4

DON'T KNMOW. ...ttt ettt sttt n e e sae e 98 =>EMCO4

RETUSEA ...t bbbttt bbb ene s 99 =>EMCO4

«EMC1A »

92: IEMC2
simple

min=1max=11=2

2004/06/01 09:33

TARGET IS: <x1 >

You have explained to me that <TARGE > gets insurance through a CURRENT OR

FORMER employer.

CONLINUE ...t e b e bttt e bbb bt bt et e et ene e e 01

«|EMC2 »

93: EMCO2
simple

min=1max=11=2

2004/06/01 09:33

TARGET IS: <x1 >

EMCOV2. Can <Target >'s employer coverage be extended to include dependents of

those covered by this benefit?

L2 T ST U O P TR PRTPR PRI 01

01 T TSP YU P UPRURPRT 02

<target > does NOT have ACCESS to insurance through OWN employer (VOL) 03

AON'T KNMOW .ttt ettt sttt sttt sbe e te bt ere e 98

TETUSEO ...t et 99

«EMCO2 »

94 EMCO4

simple, ouverte
mn=1max=11=2
2004/06/01 09:34
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TARGET IS: <x1 >

EMPCOV4. Why isn't <TARGE > included in their employer's group health insurance
plan? (ASK AS OPEN ENDED. DO NOT READ CHOICES. USE DOWN ARROW TO

VIEW ALL CHOICES)

=>Qa31

si H9==01 OR H14==9

do not need or want any health iINSUFaNCe..........c.cccviriiiiiic s 01 => Q31

FATEIY SICK ..ttt bbb 02 =>Q31

t00 MUCh hassIe/PapErWOrK ..........cociriiiiie s 03 => Q31

could not afford/t00 EXPENSIVE .......c..eieiieiiiiiie e 04 => Q31

DO NOT work enough hours in @ WEeK ..........cccceieiiiiiiiiiniie e 05 => Q31

have NOT worked there 10ng eN0UGh..........ccccceiiiiiiicicc e 06 => Q31

doubt eligible/rejected because of health [o10) 1o 110 ]  F 07 => Q31

benefit package didn't MEEL NEES .........ccecviieiieiiie e 08 => Q31

HaS OtNEr COVEIAGE ....vveveeeieie ettt sttt nnens 09 => Q31

(011 TC G (] TCT ot ) OSSN 80 => Q31

ON'E KNOW 1ttt ettt et ettt be e sbe e ee e e sbe e sbeebeenbeenbesnee e 98 => Q31

=] (1] OSSP 99 =>Q31

«EMCO4 »

«O_EMCO4 »

95: IUIO
simple

mn=1max=11=2

2004/06/01 09:34

TARGET IS: <x1 >

Now I'd like to ask a few questions about <TARGE >'s access to health insurance

through a parent or guardian.

=> Q31

si H10==01 OR H14==10 OR AGE01>25

(07031113111 TSSO 01

«lUIO »

96: PACO1
simple

min=1max=11=2

2006/04/03 11:34

TARGET IS: <x1 >

PACOVL1. Does the organization <TARGE >'s parent or guardian works for offer

health as a benefit to any of its employees? (PROBE: IF ONLY ONE PARENT WORKS,
ANSWER FOR THIS PARENT'S EMPLOYER. IF BOTH PARENTS WORK, ANSWER

FOR THE PRIMARY WAGE EARNER LIVING IN THE HOUSEHOLD.)

L= TP UPR PR PPRTPR 01
0 TSSO U PR PPU PP URTPRPRPRORS 02
Not Applicable/Parent(s) not employed (VOL).....c.cccoeieviniviinsiceeeee e 03
AON'TKNMOW .ttt bttt b et be et sbe et nnes 98
=1 (U ET=To TSROSO 99
«PACO1 »

=> SKIP7
=> SKIP7
=> SKIP7
=> SKIP7
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97: PACI1A
simple

min=1max=11=2

2006/04/03 11:35

PACOI1A. Is <Target>'s parent or guardian ELIGIBLE for this health insurance coverage?

D =L TR 01

L TR 02 => SKIP7

[0 oI A 10 2 98 => SKIP7

L] (01T R 99 => SKIP7

«PACI1A »

98: PACO3
simple

min=1max=11=2
2006/04/03 11:35
PARCOQOV3. Can this coverage be extended to cover dependents?

L= PP UPRUPRPPRTPR 01

21 TR 02 => SKIP7

(o[0T A 2 T A 98 => SKIP7

(=] 01T [T 99 => SKIP7

«PACO3 »

99: SKIP4 (1)
simple

min=1max=11=2
2004/03/09 13:52
Dummy screen to execute complex skip (INACTIVE 3/9/04)

=>PACO5
sinon => +1
si PACO3==01 AND (H10>01 OR H14<10)

«SKIP4 »

100: SKIP5 (1)
simple

min=1max=11=2

2004/05/31 12:12

Dummy screen to execute complex skip (INACTIVE 3/9/04)

=> 0OWCO2
sinon => Q31
si (H13==02 OR H13==98 OR H13==99) AND PAC03>01

«SKIP5 »

101: PACOS5

simple, ouverte
mn=1max=11=2
2004/06/01 09:34
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TARGET IS: <x1 >

PARCOVS. What is the main reason <TARGE > is not included in this employer's
health insurance plan? (ASK AS OPEN ENDED. USE CODE LIST BELOW. USE DOWN

ARROW TO VIEW ALL CHOICES)

child doesn't NEEd INSUFANCE ........cceiuireeieie ettt 01

[ 1= LR o] USSR 02

parent is NOT ELIGIBLE t0 reCeiVe COVEIrage.......cccvvermeerereerrerieseesresiessesseseenens 03

child is covered through another adult's employer plan...........ccccccoovviieiininnnenns 04

t00 MUCh hasSIE/PAPEIWOIK .......ccecviieeieeeice e 05

could not afford/to0 EXPENSIVE .......ccveeeieecre s 06

their benefit package didn't meet this child's needs.........cccceevvrvevevencicvcnenenn, 07

expect this child will be covered by a policy shortly........ccccoviiiiniiiiin 08

Child has Other COVEIAE ......oovieeiiieiicecre s 09

OLNEE (SPECITY) ... ettt ettt bbb 80

AONTKNOW ...t bbbt b bbb b eneas 98

2] (ST [T USSR 99

«PACO5 »

«O_PACOS5 »

102: SKIP7
simple

min=1max=11=2

2004/02/24 14:21

Dummy screen to execute skip

=>Qa31

sinon => +1

si H15==01 OR H15==02 OR H15==98 OR H15==99

«SKIP7 »

103: OWCO2
simple, ouverte

min=1max=11=2

2004/06/01 09:34

TARGET IS: <x1 >

OWNCOV2. What is the main reason the parents or guardian have not bought health

insurance for <TARGE > on their own? (ASK AS OPEN ENDED. USE CODE LIST

BELOW. USE DOWN ARROW TO VIEW ALL CHOICES)

=>Qa31

si H12==1 OR H14==12

don't need or want any health INSUFaNCe ..........ccccveveiee e 01 => Q31

FATEIY SICK .ttt bbbttt 02 => Q31

don't know where to begin/Where t0 g0 .......cocooeirirninieneee s 03 => Q31

t00 MUCh hassIe/PapPErWOTK ..........cociiiiiiie s 04 =>Q31

could not afford/to0 EXPENSIVE .......cc.eieiieiiieee et 05 => Q31

expect they will be covered by a health insurance policy shortly..............c.c...... 06 => Q31

benefit package didn't meet this child's NEeds ...........cccoeiiiiiiiinniiiccee e, 07 => Q31

not eligible for reason other than health .............cccoooeiii i, 08 => Q31

doubt eligible/rejected because of health (o10) 1o 110 ] F 09 => Q31

OLNEL (SPECITY) .eeiiiiii ettt s be s re e eneas 80 => Q31

HON'E KNOW 1ttt ettt ettt s b sbe e sbe e be s e e sbe e sbeebeenbeenbesaae e 98 => Q31

L= U EI=To OSSOSO PO 99 => Q31

«OWCO2 »
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«O_0OWCO2 »

104: Q31
simple

mn=1max=11=2

2004/06/01 09:36

TARGET IS: <x1 >

Q3.1. Next, I'd like to talk about <TARGE >'s health care. Is there a particular doctor's

office, health maintenance organization, hospital or some other place they usually go if they

are sick or need advice about their health?

3L TP U PP PP PPO 01

o OSSR 02 =>Q34

ON'TKNOW ..ttt ettt et sbe st ereaneeneas 98 =>Q34

(=1 {0 FT=To SRS 99 =>Q34

«Q31 »

105: Q32
simple, ouverte

min=1max=11=2

2004/06/01 09:36

Q3.2 What kind of place is that? (IF CLINIC ASK: Is it a hospital outpatient clinic,

company clinic, school clinic, or some other kind of clinic? IF~ HOSPITAL, ASK: Isita

hospital outpatient clinic or a hospital emergency room? IF SOME OTHER PLACE,

ASK: Where was this? IF MORE THAN ONE PLACE, READ: Please answer for what

you would consider the primary place. USE DOWN ARROW TO VIEW ALL CHOICES)

DOCTOR'S OFFICE OR GROUP PRACTICE .......cccoevieitieieienei e 01 =>DOC1

HEALTH MAINTENANCE ORGANIZATION (HMO).....ccccooveivieieeneesiees 02 =>DOC1

HOSPITAL OUTPATIENT CLINIC ...ttt 03 =>DO0OC1

HOSPITAL EMERGENCY ROOM .....ccciiiiiniinieise et 04 =>DOC1

COMMUNITY HEALTH CENTER......cititietie ettt 05 =>DOC1

INDIAN HEALTH SERVICE .....coiiiiiiiieiieere st 06 =>DO0OC1

PUBLIC HEALTH DEPARTMENT ..ottt 07 =>DO0OC1

COMPANY INDUSTRIAL CLINIC .....coviiieiiiice e 08 =>DOC1

SCHOOL CLINIC ..ottt sttt st st b e sve e 09 =>DOC1

WALK-IN CENTER ...ttt 10 =>DOC1

OTHER (SPECIFY) ittt nsnn 80 O =>DOC1

DON'T KINOW ..ottt ettt sttt st sbe et sttt sbe e tesbesretesbesnare s 98 =>DOC1

REFUSED .....oviiiitisietet ettt sttt sttt sbe st nesbesnenens 99 =>DOC1

«Q32 »

«0_Q32 »

106: Q34

simple, ouverte
mn=1max=11=2
2004/06/01 09:36
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TARGET IS: <x1 >
Q3.4 What is the MAIN reason <TARGE > doesn't have a usual source of medical care?

NO INSURANCE/CAN'T AFFORD IT ..ot 01

CHANGED INSURANCE ... 02

NO CARE AVAILABLE/DOCTOR WON'T ACCEPT INSURANCE............... 03

TWO OR MORE USUAL DOCTORS OR PLACES DEPENDING ON WHAT IS WRONG (E.G. GENERAL

PRACTITIONER/FAMILY DOCTOR AND GYNECOLOGIST) ....ccccevvvvrrrnnne 04

DO NOT NEED A DOCTOR - RARELY GET SICK ....cccoviiiiiiiiiiiiiee i, 05

DO NOT LIKE/TRUST/BELIEVE IN DOCTORS. ..ot 06

SPEAK A DIFFERENT LANGUAGE ...ttt 07

CARE TOO FAR AWALY ..ottt ettt etee e etan e e eran e naeas 08

OTHER (SPECIFY) ittt sttt sttt 80 O

DON'T KINOW ... .ottt ettt e e bbb e e s e s s b b e e e s e s s seaaaees 98

REFUSED ..ottt ettt bbb rae s 99

«Q34 »

«O_Q34 »

107: DOC1
simple

min=1 max=11=3

2006/03/22 15:16

TARGET IS: <x1 >

In the past year, how many visits did <target> and <target>'s family make to a doctor's
office, clinic, or any other place for medical care? (ENTER NUMBER 0-997)

$E 0997

[ o] 4 410 OSSPSR 998

«DOC1 »

108: Q35
simple

min=1max=11=2

2004/06/01 09:36

TARGET IS: <x1 >

Q3.5 During the past year, was there any time <TARGE > needed emergency medical

care but did not get it?

D =S TR 01

N[ L 02 => Q38

DON'T KNOW ... .ottt b e s s s eaaaaes 98 => Q38
REFUSED ..ottt e s e b b b e e e e e s s saaees 99 => Q38

«Q35 »

109: Q37

simple, ouverte
min=1max=11=2
2004/06/01 09:36
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TARGET IS: <x1 >
Q3.7 What is the MAIN reason <TARGE > did not get emergency medical care? (ASK
AS OPEN ENDED. USE CODE LIST BELOW. USE DOWN ARROW TO VIEW ALL

CHOICES)

NO INSURANCE/CAN'T AFFORD IT ..cvoiiiiceieese et 01

PROVIDER WOULDN'T ACCEPT INSURANCE .......ccccovniineneesenee e, 02

DOES NOT LIKE/TRUST/BELIEVE IN DOCTORS .....cccooeiiierieenenieesieeeen, 03

THOUGHT PROBLEM WOULD GO AWAY/DIDN'T THINK IT WAS SERIOUS ENOUGH 04

USED HOME REMEDY/SELF CURE .......ccccootiiiiiiiinceneee e 05

DID NOT KNOW WHERE TO GO/HOW TO MAKE AN APPOINTMENT .... 06

TRANSPORTATION PROBLEM - COULD NOT GET TO CLINIC/ DOCTORO07

CARE TOO FAR AWAY, NOT CONVENIENT ......ccooririrreeinnec e 08

OTHER (SPECIFY) .ottt 80 O

DON'T KINOW ..ottt ettt sttt sbe sttt te b e tesbesnetesbesease s 98

REFUSED ..ottt sttt ettt sttt st sttt 99

«Q37 »

«O0_Q37 »

110: Q38
simple

min=1max=11=2

2006/03/24 13:04

TARGET IS: <x1 >

Q3.8. During the past year, was there any time that <TARGE > needed a doctor or other

health care provider because of illness or injury other than an emergency, but did not get it?

(PROBE: DO NOT COUNT THE EMERGENCY MEDICAL CARE MENTIONED IN

THE PREVIOUS QUESTIONS).

B PP PSPPI OPPPPTI 01

o TSSOSO 02 => DENT

DON'T KNOW. ...ttt r e 98 =>DENT

RETUSE ... et 99 => DENT

«Q38 »

111: Q310
simple, ouverte

min=1max=11=2

2004/06/01 09:37

TARGET IS: <x1 >

Q3.10 What is the MAIN reason <TARGE > did not receive non-emergency medical

care? (ASK AS OPEN ENDED. USE CODE LIST BELOW. USE DOWN ARROW TO

VIEW ALL CHOICES)

NO INSURANCE/CAN'T AFFORD IT ..ottt 01

PROVIDER WOULDN'T ACCEPT INSURANCE .......ccootneinineenenee e, 02

DOES NOT LIKE/TRUST/BELIEVE IN DOCTORS ......ccceoeiiieieienieee e, 03

THOUGHT PROBLEM WOULD GO AWAY/DIDN'T THINK IT WAS SERIOUS ENOUGH 04

USED HOME REMEDY/SELF CURE .......cccoitiiiireennee e 05

DID NOT KNOW WHERE TO GO/HOW TO MAKE AN APPOINTMENT .... 06
TRANSPORTATION PROBLEM - COULD NOT GET TO CLINIC/ DOCTORO07

CARE TOO FAR AWAY, NOT CONVENIENT ... 08
OTHER (SPECIFY) .ot 80 O
DON'T KNOW ....ciiiiiiiiiiii i 98
REFUSED .....coociiii 99
«Q310 »

«0_Q310 »
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112: DENT

simple

min=1max=11=2

2004/06/01 09:37

TARGET IS: <x1 >

DENTAL. Does <TARGE > currently have insurance that pays for dental care?

D TP PR PRSPPI 01

Lo TSR PP PRTURPRUPRPN 02

DON'T KNOW......iiiieiee sttt r e 98

RETUSEA ... .ottt be e be e be e sbe e sbe e sreennas 99

«DENT »

113: PRESC
simple

min=1max=11=2

2004/06/01 09:37

TARGET IS: <x1 >

Does <TARGE > currently have insurance that pays for prescription drugs?

D T TP P PR URURPPN 01

Lo TSR U PP PRTURPROPRPRN 02

DONTKNOW ..ottt ettt et e st e s be e s be e be e tesneesaeesaeeneas 98

RETUSEA ... .ot ettt b e be e be e sbe e s aeesreennas 99

«PRESC »

114: PRES3
simple

min=1max=11=3

2006/03/24 09:48

In the past year, how many medical prescriptions did <target> and <target>'s family
members receive from a physician or other health professional? (ENTER 3 DIGIT
NUMBER 0-997)

$E 0997

DON'T KNOW......etiiiiieie st n e 998

«PRES3 »

115: DEDUC
simple

mn=1max=11=2

2004/06/01 09:37

TARGET IS: <x1 >

Does <TARGE >'s health insurance include a deductible?

=>|RAC1
si H13==02 OR H13>=98 OR H14A==01

N O e e et e e e e e e bae e e aara e e s aabaeaaas 02 => CPAY1
(D1 0 ([0 OO 98 =>CPAY1
RETUSEA ... .ecuviceiicteecte ettt b et e et e st sreesbe e sreenras 99 => CPAY1
«DEDUC »
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116:
simple
min=1max=11=4
2004/06/01 09:37
What is the dollar amount paid toward the deductible? (ENTER NUMBER 1-9997.
ROUND TO NEAREST WHOLE NUMBER)
$E 0001 9997
DONTKNOW ..t 9998
RETUSEA ..ttt e 9999
«DEDUZ2 »

DEDU2

117:
simple
min=1max=11=3
2004/06/01 09:37
TARGET IS: <x1 >
What is the dollar amount paid toward <target >'s copay for a physician visit?
(ENTER NUMBER 0-997. ROUND TO NEAREST WHOLE NUMBER)
$E 0997
DONTKNOW ...ttt 998
RETUSEA ... bbbt 999
«CPAY1 »

CPAY1

118:
simple
min=1 max=11=3
2004/06/01 09:37
TARGET IS: <x1 >
What is the dollar amount paid toward <target >'s copay for a prescription?
(ENTER NUMBER 0-997. ROUND TO NEAREST WHOLE NUMBER)
$E 0997
[0 4 410 SRR 998
RETUSEA ... bbb 999
«CPAY?2 »

CPAY2

119:
simple
min=1max=11=3
2004/06/01 09:37
TARGET IS: <x1 >
What is the dollar amount paid toward the monthly premium for <target
>'s insurance? (ENTER NUMBER 0-997. ROUND TO NEAREST WHOLE NUMBER)
$E 000 997
DONTKNOW ..ottt sttt ettt st st e te e sbe e sbe e beenbeenee e 998

«PREM »

PREM

120:

simple
mn=1max=11=2
2004/06/01 09:37
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The following questions are for classification purposes only...

CONLINUE ..ttt be et e br e s be et e e beerbesteesbeesteesreeneeens 01

«IRAC1 »

121: RACE1
simple

mn=1max=11=2

2004/06/01 09:38

TARGET IS: <x1 >

RACEL. Is <TARGE > Puerto Rican, Cuban, Mexican or another Hispanic or

Latino group?

D P PPS 01

o TSSO 02

DONT KNOW.. ..ttt be e sbe e e e snbeesnbe e 98

L1 {1 ] =T USSR 99

«RACE1 »

122: RACE2
simple

min=1max=11=2

2004/06/01 09:38

TARGET IS: <x1 >

RACE2. What race does <target > primarily consider themselves to be:

(ASK AS OPEN ENDED. READ CHOICES 1-5 IF NECESSARY.)

WL 1ottt bttt nne s 01

Black, African-AMEriCaAN.........cccce i 02

F NS - o PSSO ORPSRN 03

Native American or Alaska NatiVe..........cccocieiiiiiie i 04

SOME OLNEI TACE ....vivicticiecie ettt te et se et e s besbesresreeneas 80

BiraCial (VOI)......oce it 97

[0 0 40P 98

=] {1 ST OSSR 99

«RACE?2 »

123: MSTAT
simple

min=1max=11=2

2004/06/01 09:40

TARGET IS: <x1 >

MSTAT. Is <TARGE > currently single, married, living with a partner, divorced,

separated or widowed?

=> CHARG

si AGE01<18

SINGIE e bbb bbb bbb reeaeenes 01

1T 1Yo PSSRSO 02

lIVING WIth PAINET ... 03

0LV (o=l OSSPSR 04

=T 0 L= (=T S 05

1T [0 =T U 06

[0 0 401 98

FETUSEO ...ttt et et e et e e be et e st e sbe e beesreenras 99

«MSTAT »
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124: EDUC
simple

min=1max=11=2

2004/06/01 09:40

TARGET IS: <x1 >

EDUC. What is the highest level of education <TARGE > has completed? (ASK

AS OPEN ENDED. USE CODE LIST BELOW)

NO FOrMal EAUCALION .....c.eiviiiiii e 00

grade SChOOI (1 £0 8 YEAIS).....cvvieieereiieeieiecresie e ste e ste e se e et sresresre e eneas 01

some high SChOOI (9 10 11 YEAIS) ....cuvvveieiirieieiirieeeie et 02

high school graduate or GED (received a high  school equivalency diploma) ... 03

some college/technical or vocational school/training after high school..... 04

COIEQE GradUALE ... c.viieieieiecie ettt 05

postgraduate degree/StUY ... 06

AONTKNOW ...ttt b e bbb eneas 98

RETUSEA ..ot ettt et e e 99

«EDUC »

125: EST1
simple

min=1max=11=2

2006/03/31 15:32

TARGET IS: <x1 >

EST1. Is <TARGE > currently...(READ CHOICES 1-6) (PROBE: ANSWER FOR

THE JOB YOU WORK AT THE MOST HOURS)

self employed or OWN YOUF DUSINESS........cc.ooiiiiiiiieiiciee e e 01

employed DY SOMEONE ......cviiiiicce e 02

an unpaid worker for family business, farm, or home .........c..cccoeveveivcciiecnne, 03 => PH2

LU To T OSSO PRRURPRRPRPRSIN 04 => PH2

unemployed, 0r NOt WOTKING .......viviiiieieresese s 05 => PH2

full-time student (greater than three-fourths — time)........cccccoevevvvievcieiccccie e, 06 => PH2

ON'TKNOW ...ttt ettt sttt sbesreeneeneas 98 =>PH2

=] [T PRSPPSO 99 =>PH2

«EST1 »

126: EST2
simple

min=1max=11=2

2004/06/01 09:41

TARGET IS: <x1 >

EST2. Does <TARGE > have more than one paying job?

Y5O SRTS 01 =>EMHRS

L[0T TR TPPTRPRRPPPRTRRTIN 02

ON'TKNOW ..ttt e ettt sbesre e eneas 98

=] (ST OSSP 99

«EST2 »

127: HOURS
simple

min=1max=11=2

2004/06/01 09:41
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HOURS. What is the total number of hours usually worked per week?(ENTER 2 DIGIT

NUMBER)
$E 0 80
(o [0 Al 10 TR 98

«HOURS »

=> EPERM
=>EPERM

128:
simple
mn=1max=11=2
2004/06/01 09:41
TARGET IS: <x1 >

EMHRS

EMHRS. For the job <TARGE > works at the most hours, what is the total number

of hours usually worked per week? (ENTER 2 DIGIT NUMBER)
$E 180

=> EPERM
si HOURS>0

(o[0T A 2 T L TR 98
(=] TUEST =T TR 99
«EMHRS »

129:

simple
min=1max=11=2
2004/06/01 09:41
EMPERM. Is this a permanent, temporary, or seasonal job?
PEIMANENT ...ttt ettt ettt ae e be e sbe et e e st e e st e s beenbeenbeenbeenneenes 01
(E=] 00 oT0] ¢ 1Y T U UP T UP P URPRT 02
SEASONAI ..ttt bbbt 03
AON'T KNOW .ttt ettt sttt sbe e be bt erennes 98
TETUSEO ...t et 99
«EPERM »

EPERM

130:

simple
mn=1max=11=2
2006/03/24 12:52

TENUR

TENURE. How long have you been employed by your current employer? (NOTE: ASK

For the job you work the most hours for those with more than one job).

LSS than 3 MONENS ..o 01
3 months to 1ess than 6 MONS ..o 02
6 MONths t0 18SS than 1 YEAI.......cccciveieiie e s 03
1 year to 1ess than 18 MONLNS..........cceiiiiiie i 04
18 MOoNths t0 1€SS than 2 YEAIS ........cveieiese e 05
2 years t0 18SSthan 5 YEAIS ......ceoveiiiiiiriee s 06
S YBAIS OF MO ..ottt sr bbbttt e e nn e an e ane s 07
[0 L] 0 S 10 SRR UPRSRIN 98
L1 {1 ] =T USSR 99
«TENUR »
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131: SECTR
simple, ouverte

min=1max=11=2

2006/03/24 12:55

SECTOR. Thinking about your employer, what type of business is it? (NOTE: For the job

you work the most hours for those with more than one job).

AGEICURUIE ..ottt e te e e e e et e s tesresteaneeneenens 01

CONSEIUCTION .ttt ettt 02

T 7= Tod (0T o PSSR 03

Gas AN SANTTALION .....oveiviieiiie bbbt ebe e 04

COMMUNICALION ...veiieiie ettt be et e e e et e s te e sbeesee e eresneeens 05

TrANSPOITALION. ...ttt 06

WHOIESAIE ... bbbt see s 07

RELAIL ...ttt ere s 08

Finance/INSurance/Real ESTate..........ccoiiiiiiieiiieie et 09

SBIVICE 1.ttt b e ettt b et b e et st r e b et neere et e 10

Something EISe (SPECITY) c..oiviiiieiicece e 80

DON'T KNOW. ...t 98

RETUSE ... ettt 99

«SECTR »

«O_SECTR »

132: ALLS
simple, ouverte

min=1max=11=2

2006/03/29 12:48

TARGET IS: <x1 >

ALLS. Thinking about the employer <TARGE > works for, about how many

people are employed there? If the firm or organization has multiple locations in your city or

across states, please include the number of people at ALL locations.(NOTE: IF TARGET

PERSON IS SELF-EMPLOYED, THEY ARE THE EMPLOYER AND SHOULD

COUNT THEMSELVES IN NUMBER OF PEOPLE EMPLOYED) (RECORD

VERBATIM)

RECORD VERBATIM ....oiiiiice ettt 80 O

ON'E KNOW 1.ttt ettt te e s be e ere e s ae e sbe e sbeesbeenbeenbeenre e 98

2] (U] To [OOSR 99

«ALLS »

«O_ALLS »

133: IMI

simple
min=1max=11=2
2006/03/31 15:33

IMI. Now I'd like to ask a few questions about the person this child gets his or her

insurance benefits through.

=> PH2
si AGE01>18

(00111311 01
«IMI »
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134: CHARG
simple

min=1max=11=2

2006/04/03 09:45

Now I'd like to ask a few questions about the PRIMARY WAGE EARNER in the

household. If there is no primary wage earner, then I'd like you to think about the person

RESPONSIBLE for the care of this child. Would that be you or someone else?

=>PH2

si AGE01>=18

PEISON ON PRONE ...ttt e b bbbt se et bbbt ene e e 01 =>HHEM1

0] 1410 S-S TSR 02 => HHEM1
[0 0 10 OO 98

RETUSEA ... ettt st e e s e e e sb e s s e e e bt e s sbeeesrae e 99

«CHARG »

135: HHEM1

simple
min=1max=11=2
2006/03/31 15:32
HHEMPL1. Is the primary wage earner currently...(READ 1-6) (PROBE: ANSWER FOR
THE JOB YOU WORK AT THE MOST HOURS)(NOTE: question refers to the
PRIMARY WAGE EARNER in the household. If there is no primary wage earner, then I'd
like you to think about the person RESPONSIBLE for the care of this child.)

self employed or OWN YOUr DUSINESS.........ccoeiiiiieiiciceee e 01

emMPIOyEed DY SOMEONE .....ocveeice e 02

an unpaid worker for family business, farm, or home .......c.ccccevvvvvivricvecnn, 03 =>PH2

U1 T OO SOTRPROPRPTSRPRPRPN 04 =>PH2

unemployed, 0r NOE WOIKING......cciiiiiriieinecee s 05 => PH2

full-time student (greater than three-fourths  time).........ccocoevvvvviiicieicncce e, 06 =>PH2

ON'TKNOW ...ttt sttt et st sbeereeneeneas 98 =>PH2

2] (U] To [T TSR URUU U 99 =>PH2

«HHEM1 »

136: HHEM?2
simple

min=1max=11=2

2004/06/01 09:41

HHEMP2. Does the primary wage earner have more than one paying job?(NOTE: question

refers to the PRIMARY WAGE EARNER in the household. If there is no primary wage

earner, then I'd like you to think about the person RESPONSIBLE for the care of this

child.)

L2 T ST P O P URTPRTPR PRI 01 =>HEM2B

=1 (U EI=To SRR RRRP 99 => HPERM
«HHEM2 »

137: HHRS
simple

mn=1max=11=2

2004/06/01 09:42
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HHOURS. What is the total number of hours usually worked per week?(NOTE: question

refers to the PRIMARY WAGE EARNER in the household. If there is no primary wage

earner, then I'd like you to think about the person RESPONSIBLE for the care of this

child.)

$E 180

AON'TKNMOW .ottt re et sn e eneanes 98 =>HPERM
TETUSEO ...t 99 =>HPERM
«HHRS »

138: HEM2B
simple

min=1max=11=2

2004/06/01 09:42

HHEMP2B. For the job with the most hours, what is the total number of hours usually

worked per week? (ENTER 2 DIGIT NUMBER)(NOTE: question refers to the PRIMARY

WAGE EARNER in the household. If there is no primary wage earner, then 1'd like you to

think about the person RESPONSIBLE for the care of this child.)

$E 080

=> HPERM
si HHRS>0

(o[0T A 42 T A 98 => HPERM
(=] 01T [ 99 => HPERM
«HEM2B »

139: HPERM
simple

min=1max=11=2

2004/06/01 09:42

HHPERM. Is this a permanent, temporary, or seasonal job?

1] 10T a =] L PP UPPPR 01

L(=] 1] [0 -1 Y2 TP U PO PP 02

SBASONAL ..ttt bbbt e 03

AON'TKNMOW .ttt bttt b et be et nbe et nnes 98

=1 (U ET=To SRR ORI 99

«HPERM »

140: HTENR
simple

min=1max=11=2

2006/03/24 12:56

HTENURE. How long have you been employed by your current employer? (NOTE: ASK

For the job you work the most hours for those with more than one job).

LSS than 3 MONTNS ..o 01
3 months to 1esS than 6 MONENS............ceiiiiiier s 02
6 MONLhS 0 16SS thaN 1 YR .......cviiieiiciec s 03
1 year to 1ess than 18 MONtNS........ccoeiiiiiiiie e 04
18 MONthS t0 18SS than 2 YEAIS .....c.cciiiciiieere e 05
2 years t0 18SS than 5 YRAIS .....c.eceiiiie e s 06
5 YBAI'S OF MOTE ...ttt ettt ettt ettt et b et e ket e et e e e e s be e s beesbe e st e e nneaareeneenneenes 07
DON'T KNOW......oiiiiiiiii e e e 98
REFUSEA ... 99
«HTENR »
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141:
simple
min=1max=11=8
2006/03/24 12:58
TARGET IS: <x1 >
HSITES. Thinking about the employer <target > works for, about

how many people are employed there? If this person works for a firm that has multiple
locations in your city or across states, please include the number of people at ALL
locations. (NOTE: question refers to the PRIMARY WAGE EARNER in the household. If
there is no primary wage earner, then I'd like you to think about the person RESPONSIBLE
for the care of this child.) (ENTER NUMBER 1-99999999)

$E 1 99999999

HSITE

ON'E KNOW .ttt re e 99999998

=] [T RS RPTR 99999999

«HSITE »

142: PH2
simple

mn=1max=11=2

2006/03/31 15:29

PH2. How many phone numbers do you have in this household that can be connected to

phones that are answered by a person EXCLUDING cell phones?

OO SO PP SOURPTRRPRPPN 01

e e e Lo et e oLt e— e Lot eR e Lo e oAt R et e Rt R et R et et e Rt Rent Rt b e aen et et nnenen 02

K OSSPSR 03

Qe ettt R b bRttt r ettt et st ne e 04

TSSO 05

0SS 06

A0 g 1010 ¢TSS O U PP PRTURPUROTTO 07

AON'T KNOW .ttt ettt et b et te bt ere e 98

TETUSEO ...ttt 99

«PH2 »

143: TOWNL1

simple, ouverte
mn=1max=11=3
2004/06/01 09:42
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What city or town do you live in? (USE DOWN ARROW TO VIEW ALL CHOICES)(IF
RESPONDENT SAYS SOMETHING NOT ON LIST, ASK, "WHAT CITY OR TOWN IS

THAT A PART OF?" USE CODE LIST BELOW)

(ASK OF FIPS 09003)

=>+]

si FIPS>09001

BIIAGEPOIT. ...ttt 001
[2T=] (1= IR 002
(2] 010 S A T] [o IR SRR 003
DANDUNY ..ot bbb e e 004
[T <Y o [ 005
[F ] (0] o OO RRP 006
T 11 [ [ SR 007
LT =T=T 01T/ o] o O 008
1Y (0] 0] (0= 009
[T A =T g == R 010
A e UL =] (o TSR 011
=YY (0L o T 012
INOTWALK ...ttt ettt e e et e e s s e e e sttt e e s bt e e e s sabaeessbeeeesneeas 013
REAAING ..ottt e e b 014
RIAGETIEIU ..ttt 015
] 1] 1 (0] O ROTRRRRORRI 016
] LT 1= RO 017
S]] (0] £ [P UR 018
Y- L1 (0] (o R 019
LI T 1o T 020
KL= o] o T 021
LAY L5511 oo o RS 022
RV 1L o] o IR 023
OthEr (SPECIFY) .ottt ettt sttt sttt st nesaens 997
[ T0] 11 S [0 OO 998
LR 10 =T o ISR 999
«TOWNLI1 »

«O_TOWNL1 »

144 TOWN2

simple, ouverte
min=1max=11=3
2004/06/01 09:42
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What city or town do you live in?(USE DOWN ARROW TO VIEW ALL CHOICES) (IF
RESPONDENT SAYS SOMETHING NOT ON LIST, ASK, "WHAT CITY OR TOWN IS

THAT A PART OF?" USE CODE LIST BELOW)
(ASK ONLY OF FIPS 09009)

=>+1

si FIPS<09009 OR FIPS>09009

F AN g1l o - TR 024
BEACON FallS ...t et e e e e 025
BEENANY ...t 026
(ST =1 0] (o] o PSR 027
(O g 1= 111 (R RTRR 028
=14 o)V OSSR 029
[t 1 = A2 [OOSR 030
LCTUT 1) {1 (o [P ORR 031
[ 1410 L 032
VP10 o o 033
V1= o [T o 034
MIAAIEDUNY ... 035
1Y LE) (0] o PO 036
NAUGALUCK ...ttt 037
INEW HAVEN L. b e e s s s sababaee s 038
N To] (g T =] =1 0] o ISR 039
(Lo 1 g1 P\ VL] R 040
L@ 17T [0[RP PUPTRN 041
(@74 101 (o IR 042
PrOSPECT 1.ttt ettt 043
RS20 1 OSSPSR 044
SOULNDUNY et 045
WallINGTOIU. .. .o e 046
WALEIOUNY ..ot 047
VYRS O VL] R 048
LVAT70] (o0 1 AR 049
WWOOADITAGE ..ttt bbb bt 050
OtNEr (SPECIFY) c.iiititiiiee ettt sttt sttt sttt nnns 997
[0 0 1 o [0 OO P 998
] [V ESY<T o SR 999
«TOWN?2 »

«O_TOWN?2 »

145: TOWN3

simple, ouverte
mn=1max=11=3
2004/06/01 09:42

64



What city or town do you live in?(USE DOWN ARROW TO VIEW ALL CHOICES) (IF
RESPONDENT SAYS SOMETHING NOT ON LIST, ASK, "WHAT CITY OR TOWN IS

THAT A PART OF?" USE CODE LIST BELOW)
(ASK ONLY OF FIPS 09015)

=>+1

si FIPS<09015

BN 1] (0] (o [T 051
BIOOKIYN ...t e 052
CANTEIDUNY . bbbttt 053
ChaPHIN . b 054
[EE TS {0 (o ISR 055
HAMPLON .o 056
LT TR0 2SS 057
g F T AL L T=] o TR 058
00T 1 01 (=] A 059
od V11T o 0 060
RSTe0] 1 = g To 061
SEEITING 1.ttt et 062
TROMPSON ..ttt ettt eb et sr e ene e 063
WVINONAM Lottt st e e s et e s sttt e s sabt e e e s sateeessbaees 064
AVAT 00T 1) (01 TR 065
OtNEr (SPECIFY) c.iiiiitiiiee ettt sttt sttt bbbttt 997
[ T0] 11 S [0 OO 998
] (VTS SR 999
«TOWN3 »

«O_TOWNS3 »

146: TOWN4

simple, ouverte
mn=1max=11=3
2004/06/01 09:42
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What city or town do you live in? (USE DOWN ARROW TO VIEW ALL CHOICES)(IF
RESPONDENT SAYS SOMETHING NOT ON LIST, ASK, "WHAT CITY OR TOWN IS

THAT A PART OF?" USE CODE LIST BELOW)
(ASK ONLY OF FIPS 09011)

=>+1

si FIPS<09011 OR FIPS>09011

BOZIAN ..o r e r e e rrane s 066
(O] [ g 1=13 (= SRR 067
BAST LYME .. 068
Franklin c...eeeeeeece e e e s aa e raee s 069
[T 11T 0] [0 TSR 070
L] (0] (0] o RO OP PR 071
=] o =T 1o U 072
[0 Y7 Lo PR 073
[T oo o 1 074
Y S 075
1710701 A V71 1 1= 076
[T 0T g 1o (o] o TR 077
NOFth STONINGLON .....cviiic e 078
[N T0] 71V ol o TR 079
(O] [0 [ IR/ o 1= SRS UV R URUPOSUTPPRN 080
g (ST (0] ST OTO POt 081
ST 1[<] 10 SRRSO 082
SPTAGUE ..ttt ettt res 083
3 0] 110 (o] OSSP 084
Y] 111010011772 T 085
KTA 1] (0 (o R 086
(@] 1 =T (] o = O | TS 997
[0 T0] g I A 10 T2 998
LR 10 =0 IR 999
«TOWN4 »

«O_TOWN4 »

147: TOWNS

simple, ouverte
min=1 max=11=3
2004/06/01 09:42
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What city or town do you live in? (USE DOWN ARROW TO VIEW ALL CHOICES)(IF
RESPONDENT SAYS SOMETHING NOT ON LIST, ASK, "WHAT CITY OR TOWN IS

THAT A PART OF?" USE CODE LIST BELOW)
(ASK ONLY OF FIPS 09007)

=>+1

si FIPS<09007 OR FIPS>09007

(O g 1= (] (TR 087
(O 1101 (0] o TR 088
(O 10]00111Y] | PR 089
DEEP RIVET ...ttt bbbt e e 090
(D T0 [ =1 o PR 091
Ty 10 [0 =T SR 092
EASt HAMPLON ... 093
oY) GO 094
[ 10 [0 = 3 o 095
[T T 110} 1 096
1Yo o LTS =] [ 097
1Yo [0 1=1 (1Y TR 098
Old SAYDIOOK.......iieeiiciireec et 099
[200] 1 13T NSRRI 100
RV =TS (o] (1o ] TR 101
OLNEr (SPECIFY) .ottt stns 997
[ T0] 11 1 S [0 OO 998
] (VTS SR 999
«TOWNS5 »

«O_TOWNS »

148: TOWN®G6

simple, ouverte
mn=1max=11=3
2004/06/01 09:42
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What city or town do you live in?(USE DOWN ARROW TO VIEW ALL CHOICES)(IF
RESPONDENT SAYS SOMETHING NOT ON LIST, ASK, "WHAT CITY OR TOWN IS

THAT A PART OF?" USE CODE LIST BELOW)
(ASK ONLY OF FIPS 09013)

=>+1

si FIPS<09013 OR FIPS>09013

(O] 111101 ] - PR 102
F AN 310 [0 Y=Y TR 103
[270] 1 (0] [P 104
COVENETY .ttt ettt b e bt bt bt eir e ebe e b e e besnbesnee s 105
=1 1190 (o]0 RO US U 106
[ [ o101 ISR 107
[V Fo TS 1] (o R 108
0] 1 4 1=] £ UOP ROt 109
)= (0] (o [ 110
0] 1= 2o 111
6] o 3 112
R =T 210 I 113
WITTINGEON ..ottt 114
OthEr (SPECIFY) oottt sttt sttt bbbttt nesaens 997
[0 11 1 2 [0 OO T P 998
LR 10 Y=o ISR 999
«TOWNG »

«O_TOWNEG »

149: TOWNT7

simple, ouverte
min=1max=11=3
2004/06/01 09:42
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What city or town do you live in?(USE DOWN ARROW TO VIEW ALL CHOICES)(IF
RESPONDENT SAYS SOMETHING NOT ON LIST, ASK, "WHAT CITY OR TOWN IS

THAT A PART OF?" USE CODE LIST BELOW)
(ASK ONLY OF FIPS 09003)

=>+1

si FIPS<09003 OR FIPS>09003

F Vo] o IR 115
[2T=T LTS 116
(2] (00100111 o NP 117
(ST Y (o] TR 118
BUFTINGEON ...ttt bbb e be e 119
(O 101 (0] 1 HE PSP 120
o A C -1 o) SRS 121
[Ty A T 0] (o R 122
TSy YAV A T T £ 123
[ 0 ] o I 124
=1 €000 o] o S 125
GIASTONDUIY ...ttt b e 126
GIANDY ...t 127
[ L (0T (o [PPSR 128
[ 2L = o RS 129
Y oY a 16 41T (] T 130
MaAFTDOTOUGN ...t e bbbt e 131
[ LTIV =T 1 7= [ R 132
L= YT T | (o] S SPP 133
g F U0 1VZ 1 1< R 134
ROCKY Hill .ot 135
ST 11015 o S 136
Y0011 I ATA T o [T 137
SOULNINGLION. ...ttt et 138
U 111 Lo RO 139
T T A - L (0] (o R 140
WELNEISTIEIU ... baee s 141
KT 1010 o ] SRR 142
ATA AT Lo T T 0 ot 143
(@] {0 1T (] 2] = O | 0 TSSO 997
[ T0] 0 1 o [0 OO 998
] 0T 999
«TOWNT7 »

«O_TOWNT7 »

150: TOWNS8

simple, ouverte
min=1max=11=3
2004/06/01 09:42
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What city or town do you live in?(USE DOWN ARROW TO VIEW ALL CHOICES)(IF
RESPONDENT SAYS SOMETHING NOT ON LIST, ASK, "WHAT CITY OR TOWN IS
THAT A PART OF?" USE CODE LIST BELOW)

(ASK ONLY OF FIPS 09005)

=>+1
si FIPS<09005 OR FIPS>09005
BarkNAmISTEA .......ooeiceeiiee ettt ettt e st e e s et e e s st e e s st b e e e s ebre e e s aares 144
[2T= (g1 1= =T o PR 145
BIIOGEWALET ...ttt et 146
(08 1T T | [ O TSR 147
(070] [=] o] (010 -GPSR 148
(001101117 | O 149
101 21T o (O 150
[ EET LT 1410 TR 151
=] | 152
1003 11 [ 153
710§ 3 154
LT P T 0] o IR 155
NEW MITOI ..ottt et e e e se e e s s b e e e s ebe e e e saaees 156
[N L0] (0] TSR 157
[ L0] (g G- 4T o [OOSR 158
PIYMOULN. ... 159
ROXDUNY ..ottt bbbt 160
SAlISHUNY ... e 161
RS 1T T (0 0 VOO 162
B 2101 (0] TS 163
I 10 oo OSSPSR 164
KT ] 165
RTAY o] T4 (o] T 166
RV L =T (0 .Y o I 167
RV 16 TS (=T TR 168
WWOOADUIY ...ttt bbb e e e 169
OtNEr (SPECIFY) .ottt ittt sttt sttt sttt saens 997 O
[ 0] 11 1 S [0 OO T O 998
] (VTS SR 999
«TOWNS »
«O_TOWNS »
151: ICOUN
simple
mn=1max=11=2
2004/06/01 09:42
TARGET IS: <x1 >
Now | am going to ask some questions about <target >'s household income. This

income information is important because it helps the state understand how to make health
care more affordable.

(070 ] 31 1] 11T SOOI 01
«|COUN »

152: COUNT
simple

mn=1max=11=2

2006/04/03 09:53
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COUNT. Of all the people currently living in this house, how many people are living on the
total family income? (PROBE: DO NOT include any children for which a family member
currently pays child support, or any children away attending college or boarding school)
(ENTER 2 DIGIT NUMBER)

$E 120

(0 [0 Al 1O L R 98 =>|NT99
(=Y 1 ET=To [T 99 =>|INT99
«COUNT »

153: KIDS

simple
min=1 max=11=2
2006/03/29 15:01
KIDCNT. How many of these people are children under age 19?7 (ENTER 2 DIGITS)
$EO0 15

=>INCM1
si COUNT==01

(o[0T A 2 T L TR 98
(=] TUEST =T TR 99
«KIDS »

154: 1INC1
simple

min=1max=11=2

2006/03/24 13:16

IINC1. I am going to ask some questions about your household income. This income

information is important because it helps the state understand how to make health care

more affordable.

CONLINUE ...ttt bbbt 01 D

«|INC1 »

155: INCM1
simple

min=1max=11=2

2006/03/29 12:31

INCML. For classification purposes only, is the total yearly GROSS income of that person

(READ Choices 1-5)?  (PROBE: THIS INCLUDES MONEY FROM JOBS, NET

INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,

SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY

FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR

OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

=>+]

si COUNT>01

UNAEE $L0,000 ... eiieceieectie ettt e et e st e et e e st e e e bt e s sbeeesbesssbeessbesesreessrenas 01
$10,000 t0 1€SS than $15,000 ......occueiiiriiiciieeceii ettt re e s ae e 02
$15,000 t0 1€SS than $L8,000 .......ccecviiirieiiie ittt sree e srae e 03
$18,000 t0 1€SS than $29,000 .......ccivviiiiieiiie et 04
$29,000 OF MOTE....ccviiviriiriitiieteste ettt ettt sttt b st b e st e st s b e b e s s b e sbe e b sbns 05
DONTKNOW ..ottt ettt st b e et e et e s tb e st e e s be e beetesneesaeeebeennas 98
RETUSEA ... .ottt ettt et e e be e be e st saeesbeesbeennas 99
«INCML1 »
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entrevue complétée

156: INCM2
simple

min=1max=11=2

2006/03/29 12:33

INCM2.For classification purposes only, is the total yearly GROSS income for those two

people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET

INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,

SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY

FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR

OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

=>+1

si COUNT==01 OR COUNT>02

UNEr $13,000 .....0veieiiieieisieiee ettt na e nnas 01

$13,000 t0 less than $20,000 .........cccverrirrerierineeriseeesee s sees 02

$20,000 t0 less than $24,000 .........cccuevirreriereeeriseieesee s sees 03

$24,000 t0 less than $40,000 ........ccccovererirrierineerireeesiee s sees 04

$A0,000 OF MOTE.....viiviieieeeeeeeieeie sttt ettt sttt et st e et et e st e st e st e st e s s e e testeseesresresbears 05

DONTKNOW ..ottt sttt et st be e s be e be e resneesaeesbeenas 98

RETUSEA ... .ottt e be e be et st e e sbe e s reesreennas 99

«INCM2 »

157: INCM3
simple

mn=1max=11=2

2006/03/29 12:31

INCMS3. For classification purposes only, is the total yearly GROSS income for those three

people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET

INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,

SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY

FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR

OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

=>+]

si COUNT<03 OR COUNT>03

L T (=T A 00 I 01

$17,000 t0 1SS than $25,000 ........ccivviiriiiiieiecieee et 02

$25,000 t0 1ess than $30,000 ........ccevviiriiiiieiecieee et 03

$30,000 to less than $50,000 .........cccvceirrireririeeisieee e 04

$50,000 OF MOTE.....vcvveretetirireee ettt re e e se bbbttt b e ss s bbbttt bererers 05

[ 10T 0 (01 SRS 98

T 0 LY=o OSSO 99

«INCMS3 »

158: INCM4
simple

min=1max=11=2

2006/04/06 11:23

INCM4. For classification purposes only, is the total yearly GROSS income for those four
people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET
INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,
SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY
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FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR
OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

= +]1
si COUNT<04 OR COUNT>04

UNAEr $20,000 .....0ccuiiirieirieiieee ettt et sre b reenns 01

$20,000 t0 1ess than $30,000 .........cceeveeeieeieeeeieee ettt 02

$30,000 t0 1SS than $37,000 ......ceoviieiieiiicieieceee et 03

$37,000 to less than $60,000 .........ccceeeiieiieieieee e 04

60,000 OF MOTE.....vivieieeieeeeieee sttt ettt sttt e e se e et et e st e s b e st e sbe s s e et e steseesbeseesreans 05

DONTKNOW ...ttt ettt st et re e st e s be e stbe e sareesabeeas 98

RETUSEA ... ettt sa e e rae e st e e sare e sbbe e saeeenneeens 99

«INCM4 »

159: INCM5
simple

mn=1max=11=2

2006/03/29 12:31

INCMDS. For classification purposes only, is the total yearly GROSS income for those five

people(READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET

INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,

SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY

FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR

OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

=>+]1

si COUNT<05 OR COUNT>05

UNAEE $23,000 .00ttt ettt ettt ettt et 01

$23,000 t0 1SS than $35,000 ........ccevviiriiiiicieciee et 02

$35,000 t0 1SS than $43,000 ........ccevviiriiiiiiiecieee et 03

$43,000 t0 1ess than $70,000 ........c.ccevviiiiiiiiieciee e 04

$70,000 OF MOTE....ccviiviieeiitiiete st sttt s b st b sb e s b e b e s b b ese b sbns 05

(D1 0 ([0 PO 98

RETUSEA ... .ottt et ettt b e be e be s te e sreesbeesbeannas 99

«INCMS5 »

160: INCM6
simple

mn=1max=11=2
2006/03/29 12:31
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INCMBS. For classification purposes only, is the total yearly GROSS income for those six
people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET
INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,
SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY
FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR
OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

=>+]1
si COUNT<06 OR COUNT>06

UNAEE $27,000 ......ccuiiceiecii ettt ettt st 01

$27,000 t0 1€SS than $40,000 ......ccceeeiviiieiieeciii ettt re e sae e 02

$40,000 t0 1€SS than $50,000 .......cceeiiriiiiieeieii ettt re e sae e 03

$50,000 to 1eSS than $80,000 ........cocuirivieiiieiiieiiee sttt sre e 04

$B0,000 OF IMOTE....c.veiveieeeteeeeeeeeeete et e e e st et st etee et eetesaeeresresreare st essessessesreseearesreans 05

[ Lo 0 0 ORI 98

L] {0 FST=T o R 99

«INCMG6 »

161: INCM7
simple

mn=1max=11=2

2006/03/29 12:32

INCMY. For classification purposes only, is the total yearly GROSS income for those seven

people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET

INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,

SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY

FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR

OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

= +]

si COUNT<07 OR COUNT>07

UNAEN $30,000 .....ccuiiiieiieitii ettt sbe e e s s s e st e e sb e e s sbe s s sb e e e sbe s s sbeeeree s 01

$30,000 t0 1€SS than $45,000 .......ccicviiiiieiiie it sre e 02

$45,000 t0 1€SS than $56,000 .......ccocviiiriiiiieiiie ettt sree e srae e 03

$56,000 t0 1eSS than $90,000 ........cccieeiiiiiieciieciee e 04

$90,000 OF MOTE....veivieieieie e stee st ete et et s et eb e et et esb e e sb e e st e s tesressbeesbeestesnessressreesns 05

(Lo 0 0 R 98

L= 10 =10 [T 99

«INCM7 »

162: INCM8
simple

min=1max=11=2
2006/03/29 12:32
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INCMS. For classification purposes only, is the total yearly GROSS income for those eight
people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET
INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,
SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY
FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR
OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

=>+]1
si COUNT<08 OR COUNT>08

UNAEE $34,000 ......ccuiiieiiiiiecie ettt ettt ettt aeenes 01

$34,000 t0 1€SS than $50,000 .......cceiiiriiiiiieeieie ettt sbe e e e 02

$50,000 t0 18SS than $62,000 .......ccveiiieiiieiieeirii ettt e st e e 03

$62,000 to 1ess than $L00,000 .......cceeeeeiieieiiieiiie e s e s s be e saae e 04

$100,000 OF MOTE....vveeeeeeeeeeeeeeeeeee st et st eteseestessesresreseeesteseessessesreasesresreseessessereeas 05

[ Lo 0 0 ORI 98

L] {0 FST=T o R 99

«INCMB8 »

163: INCM9
simple

mn=1max=11=2

2006/03/29 12:32

INCMO. For classification purposes only, is the total yearly GROSS income for those nine

people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET

INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,

SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY

FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR

OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

= +]

si COUNT<09 OR COUNT>09

UNAEE 37,000 .....cceiiiceiieetii ettt ettt s s e b e s s sba e s sba s s sb e e e sbe s s sbeeebee s 01

$37,000 t0 1€SS than $55,000 ......cecivviiiiieiiie ittt sra e 02

$55,000 t0 1€SS than $68,000 ........cccvieiriiiiieiiieiii sttt st sree e srae e 03

$68,000 to 1eSS than $110,000 .......ccceiiiiiieirieieeie et 04

$110,000 OF MOFE...eiveeivieiteeieeeeeses st e et ete et e et e st e e st e et e st e sbessbessbeestssstssrtssbeesbeebeens 05

(Lo 0 0 R 98

L= 10 =10 [T 99

«INCM9 »

164: INC10
simple

min=1max=11=2

2006/03/24 13:32
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INC10. For classification purposes only, is the total yearly GROSS income for those ten
people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET
INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,
SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY
FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR
OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

=>+]1
si COUNT<10 OR COUNT>10

UNAEE $40,000 ......ccuiiieiiiiieiie ettt 01

$40,000 t0 1€SS than $60,000 .......cceeiiriiiciieeitii e cee ettt re e s e 02

$60,000 t0 18SS thaN $75,000 ......oocueiiieiieeiieectet et tee st e e 03

$75,000 to 1eSS than $120,000 ......cccveeieiiiiieiieeitie et sae s s ae e sae e 04

$120,000 OF MIOTE....vvieeeeeeeereeeeer e et st et st et eseestessesresreseeasteseestessesrearesseareeeessessereeas 05

[ Lo 0 0 ORI 98

L] {0 FST=T o R 99

«INC10 »

165: INC11
simple

mn=1max=11=2

2006/03/24 13:32

INC11. For classification purposes only, is the total yearly GROSS income for those eleven

people (READ Choices 1-5)? (PROBE: THIS INCLUDES MONEY FROM JOBS, NET

INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR DIVIDENDS,

SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY RECEIVED BY

FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-EMPLOYED OR

OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET INCOME)

= +]

si COUNT<11 OR COUNT>11

UNAEE 44,000 ......cuiiiceieiitiie ettt ettt et s e e st e e s sbe e s sbe s s sb e e s sbe s s sbeesbee s 01

$44,000 t0 1€SS than $66,000 ........cccueiieiiiiieiiie it sre e srae e 02

$66,000 t0 1eSS than $80,000 .......ccocveiiviiiiie ittt sre e 03

$80,000 to 1ess than $130,000 ........cceviiiiiiiiiiicie et 04

$130,000 OF MOFE....civeiieieitee e eieses st e ettt et e st e te e st e et e st e sbassbessbeastssstssressbessbeesteens 05

(Lo 0 0 R 98

L= 10 =10 [T 99

«INC11 »

166: INC12
simple

min=1max=11=2

2006/03/24 13:33
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INC12. For classification purposes only, is the total yearly GROSS income for those twelve
or more people (READ Choices 1-5)?  (PROBE: THIS INCLUDES MONEY FROM
JOBS, NET INCOME FROM BUSINESSES, FARM OR RENT, PENSIONS OR
DIVIDENDS, SOCIAL SECURITY PAYMENTS, AND ANY OTHER MONEY
RECEIVED BY FAMILY MEMBERS 15 YEARS OR OLDER. IF YOU ARE SELF-
EMPLOYED OR OWN YOUR OWN BUSINESS, PLEASE REPORT YOUR NET

INCOME)

=>+]1
si COUNT<12 OR COUNT>12

UNAEE B47,000 .....cuiiiirieiiiieieie ittt st sttt bt st eete b e etesrereas 01

$47,000 to less than $70,000 ........cccevierieirerieisiiee e 02

$70,000 t0 1SS than $87,000 .......c.ervieririiiieiiirieise e 03

$87,000 t0 1SS than $142,000 .......ccoeereirerieiieriee et 04

142,000 OF MOTE...viviiiririiiiieietetererereree sttt b bbb e e e s e s bbb b bebesere e e s snn s 05

DON'TKNOW ..ottt bbbt st 98

RETUSE ... et 99

«INC12 »

167: INT99
simple

min=1max=11=2

2004/07/22 11:34

Thank you for you contribution to this most important research.

LO00] 1] o] =] (-SSR CcoO =>/END

«INT99 »

168: INT

simple
mn=1max=11=2
2004/08/06 15:07
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SUMMARY RESULT: NOTE REASON

LOT0] 011 [0TSR 01 NI =>/END
All other codes from INTL ..o e 99 NI =>/END
PRE-TEST COMPLETION .....ccoiiiiiiiieitce et PT NI =>/END
Terminate Interview (Refused Necessary Info) ........c.ccooiiriiiiiiniciii e, TI NI =>/END
COMPLETED ...ttt ettt bbb CO N =>/END
HOUSENOIA COMPIBLE ... e e CH NI =>/END
Left Message With PEISON .......cccvciiiiie e LP 1 =>/END
left message on answering Maching........ccocvevevecie s LM | =>/END
Partial CoOmMPIELION........cocieiee e ene s PC => /NAME
INO ANSWET ...ttt ettt bttt bbbt be bt NA =>/END
ANSWENNG MACNINE. ...ttt e AM NI =>/END
BUSY ..ttt s Bz =>/END
Soft Callback (Non-Specific Date/Time) .........ccooveiriiriie it SC =>/END
Soft Unscreened CallDack...........ooeiiiiiiiiiii e SU =>/END
Refusal (Respondent said NO) ........cooiiiiiiiiiiese e RE =>/END
Refused INFOrMALION ........cv i RI =>/END
ProXy RETFUSAI .......ccviiiiiic et PR =>/END
Respondent TErMINALEd ..........ccceiiiiiecieieeee e eneas RT =>/END
Non-English HOUSENOI ..........ccoiiiiiececee e LA =>/END
Spanish Speaking HOUSEOI ...........cccviiiiiicecc e SP =>/END
Hard Callback in SPanish .........ccccveiiieieicrc e HS => /NAME
[T TTod0] 0T (=T SRR DC =>/END
BUSINESS ...ttt ettt sttt ettt b et et n et neenre e BU =>/END
FaX/MOGEMIPAGET ......veviitiieiiitiiteeete ettt FX =>/END
Hard Callback (Specific Date/TIime) .......cccooeieiiriiiiieieiee e HC => /NAME
Deaf/Language Problem ... DH =>/END
INBHGIDIE ... e e IL =>/END
Interviewer Terminated (PUT REASON iN F8) .....ccccvvviviviicieice e IT =>/END
L0G Off e bbb LO =>/END
(@11 SO oT | =>/END
Refusal Conversion (RE)........ccooviiiiiieieieereresese st se e seenie e e e sresneeneas VE | =>/END
Refusal ConVersion (RI)......ccccuvviieieie e sne s VI | =>/END
Refusal ConVErsion (PR) .......c.couiiieiiiieiierieesieeee st VP | =>/END
Need this code t0 PriNt FEPOIT ......cvivirieiieieeree e NO NI

Need this code t0 PriNt FEPOIT ......coiverieiieetree e MO NI

Need this code t0 Print FEPOIT .........coviiiiiii e s SO NI

Need this code t0 Print FEPOIT .........coiiiiiiieeree s UR NI

Need this code t0 Print FEPOIT .........coiiiiiiieeree e s NS NI

Need this code t0 Print FEPOIT ......cvcvviii e e UA NI

RESEL ...ttt ettt b et be et it RS | =>/END
«INT »

169: F8

simple, ouverte
mn=1max=11=1
procédure 1 -> F8
2004/07/22 11:35
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F8 Button

TO VIEW COMMENTS: 1. PRESS ENTER TO GET THE TEXT BOX. 2. READ
COMMENTS. WHEN FINISHED READING COMMENTS, PRESS "CANCEL" THEN
ESC KEY AND PAGE UP BUTTON. TO TYPE COMMENTS: 1. PRESS ENTER TO
GET THE TEXT BOX 2. TYPE COMMENTS 3. CLICK "OK" AND PROGRAM WILL
RETURN TO SCREEN YOU LEFT OFF ON.

COMIMENTS ...ttt s sr e r e e r e nr e sneenreenneennesnne s 1 DO

«F8 »

«O_F8 »

170: NAME
simple

min=1 max=11=30

2004/07/22 11:36

IN THAT CASE | WILL CALL BACK. WHO SHOULD | ASK FOR? (MUST TYPE

SOMETHING IN HERE TO CONTINUE).

«NAME »

171: TELO1
simple

min=1 max=11=10

2004/07/22 11:37

Just to confirm, what phone number did | reach you on? (ENTER 10 DIGIT PHONE

NUMBER. AREA CODE AND PHONE NUMBER WITHOUT SPACES OR

SYMBOLS). (Imported phone humber shown on bottom of screen)

9999999999

«TELOL »

172: CB

simple
min=1max=11=12
2004/07/16 14:19
today is $D itis $H questionnaire:$Q
(SCHEDULE APPOINTMENT FOR CALLBACK) What is the best day and time to call
back?
$CH

=>END
si $A > 25

«CB »
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